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ADVERTISEMENT

The opinion has been adopted by the Government
of the N. W. Provinces that the study of Sanskrit by
the English pupils in the Government Colleges, might
be made to furnish a means of mental discipline ana-
logous to that which the study of the Latin and the
Greek furnishes in Europe.

In these “First Lessons”, the plan of which was
suggested by Mr. T. K. Arnold’s “First Latin Book”,
and which are intended to precede the study of any
regular Sanskrit Grammar, the etymological rules for
the permutation of letiers in the formation of wouds
which in the regular grammars the learner encounters
at the outset, are remitted to a later division of the
work,—attention being called at outset to those syn-
tactical rules only—and to each rule only when a
special occasion for it arises—which are of constant
application in modifying the appearance of perfect
words when they come together in a sentence.

Attention is also confined, in the first instance, to
those forms, (such as the 3d person singular of the
verb ) in which the most constantly recurring words
present themselves in sentences, and the pupil 1s set
at once to write exercises, i which a number of
useful words are repeated to frequently as to render
unlikely their being readily forgotten again. The
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pupil, whilst making progress, will here probably have
the pleasant feeling that he is making progress—and,
after mastering this introduction, he will not be so
readily repelled by a grammar which starts from the
dyiest elements of the subject—Ilike the grammars of
Professors Wilson and Williams, or the Laghu Kaumud:
with its English Version.

If it should be thought that too little demand is
here made upon the learner for the exertion of mental
effort—the reply is this, that the main purpose of
these exercises is not so much to provoke mental effort
as to imprint on the memory of the learner some of
the broadest outlines of a subject which, when first
presented in all its details, is apt to prove repulsively
bewildering.

Benares College, \
8th September, 1850. § J R.B.
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INTRODUCTION
LER]

THE DEVANA'GARI' ALPHABET

FFAWTE AR

The vowels, in the [oliowing pagss, must be pro-
nounced as follows : viz.,, a asin Roman; é as in father;
7 asin ;i as in police; u as in push; @ as in rude; ¢ as in
there; a1 as in aisle; o0 as in so; au as ow in now. The con=
sonants are, in  general, pronounced as in English. But
th and ph must be sounded as in the words anihll and
uphill, not as in this and philology.

VOWELS &3¢

Gasd 55, L0 RL AL AL gl

) 2; T e T ai, o) o0, 8 au, * (anusvdra) . : ( msarga ) .

CONSONANTS =gy«

Gutturals sz &% ko, @ hha, «ga, w gha, & ia.
Palatals qr@eg g ca, & cha, S ja, Wjhe, =7 7a
Cerebrals :Ea?w Zta, Bitha. gda, gdha, opa
Dentals geeg @ fa, oitha, gda, gdha. 7 na.
Labials efisgy 9 pa, @& pha, §ba, 5 bha, w ma.
Semi-vowels &fed &eT

qya, Tra, qla, Foa.
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Sibilants and Aspirate
T $a, ©gsa, gsa, g ha.
The above forms of the wvowels are used only at the
beginning of a syllable. The vowel &1 ¢ i1s inherent in
every conscnant, and is sounded after every one which

has not the mark of a pause thus—( viz., _) subscribed,
nor another vowel, in a contracted shape, attached to

it. These other vowels, when not at the beginning of
a syllable, assume the following contracted shapes.

WU % FW fA@ T4 & W FAN HgA {57-GO
(faafaq ) & area # ZlaT 2 | ‘o Taq g% saga #
EAT & 9K SO%T 99RO U¥ 9% saga ¥ ofed i 811 B
fras _ga Swesaw frar s anan fare = fag wdt aar
S A IS gAY @ AN Wiaw ®TH gI W@ A
gER T & fddl weg-@ez & aww § agt ard & e
fga difiag & 7g0 FT AT E | |

MEDIAL AND FINAL FORMS OF THE VOWELS

T 3 HSTA OF g &9

ré, i, Y, w3 1 nabalb e
. . A : :
ai, 1 0, Y au.
Example of the Vowels following the letter % K.
HF A A A &Y F SFIELW —

% ko, w1 ke, faki, 1K, gk, T, Tk Th,
¥q AL, =g kz_: F ke, § kai, ®tko, i kau, F kam,
#: kah. The vowels u and @& are added 1o the
letter  r thus—g 7z, & i
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TH A T R T T 5T AFA SIS A 5— @ |

“When two or more consonanis meet without the in-
tervention of a vowszl, ey coalesce and become one
conjunct character. "These compounds are formed by
writinz the subsequent consonant under the first, by
blending them in 2 particular way, or Dy writing them
in their usual order, omilting the perpendicular stroke
of each letter except the last.

wq g A1 §fuw 59ga fawd ¥ 9 wwd €99 HE @1
REf Siar &) 7 foaa] o% @3 saga gv 9 £ | 59 9%
=ai % 92d AW SAEH B N T AG SAFA RN "),
WE UF W@ &0 o USET fHeisl ouar wtan suge &
#fafRe g8 & 3@l @ wfad adt @ =1 Av @ 5u
SFE 9% QST o fGEsT g9 a8

The letter T 7, when it immediately precedes a con-
sonant, is written above it, in the form of a crescent,
thus—7 rga ; when it immediately follows one, it is
wrilten as a slanting line beneath it, thus & kra, g gra.

59 ‘T qo] el 59EE F &% 95 aT & A 39 |
5999 ¥ TW SUTE T &9 ¥ 3@ %R famr srar 2=
w7 9z fad) saga ¥ g@IA A% AGT | Q1 a5 Sg sag
F 7 os e W ¥ we T 3@ 9mr far s 3%, 9

The [ollowing are among the most [requently recur-
ring of the

CONJUNCT CONSONANTS
faFafafEaa Sgam 99 814 Gy 44 599 § —
& kia, &9 kva, =<3 kiva, @ ksa, zaksya, =g ksva
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g khya, @ gra, A grya, WA ghna, § nka, g 1ga
gcca, W% ccha, = jja, W@ jlak, sappe, = jra,
ag fica, ©FT jla, = lte, @ ina, 3% trya, ™ lva,
zdda, §ddha, % dbha, = dbhya, @ dya, % dra,
w diwa, =z nlya, @ nira, K ple, ¥ bhya, %y Sca,
5 fra, § sia, & sia, g sira, &9 sthe, €q sya,
g hne, @ hma, ®&@lye, 7 ha.

Lesson 1. Q8 ¥

1. A Sanskrit noun, as it stands in the dictionary,
is said to be in the erude form.

SegT B FW TET fsg &9 I arazzﬁrqr ¥ v ¥ oed
qifrofes ol Afeg &9 0 feyT T8n ¥
9 MNouns in the crude form, end cithe. in 2 vowel

or in a consonant.

qifiafas 5 orgear ¥ 9E QSAT W @R A1 Q1 €69 |
ST X @ s9% 9 |

3. The vowels with which most nouns end are
ara,7 8,514,512 S u,and 7.

Sifister GETAT B g ¥ oA Sl €9 & 3, o,
S, S aYT = |

4 Nouns are Masculine, Feminine, Neuter, Name
of males are masculine, and those of females feminine;
but many words are masculine or feminime, which are
names neither of males nor of females. For example,

. o — A ——— - — -

* Communly pronounced g}a or even d yﬁa
QAT SE SEIW W A7 47 ate W G s
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T ratha ‘a car® is masculine; and fgeg7 candd ‘reflection’
1s feminine.,

war Tt Uiy, Sy, adusfag aw £ 1 ga%i & am
i SR &l & arq Sifag 59 5 g 959 9 39 weg
NIy iR a0 g Siged Saw % ow

fadl % 1S3 ¥ fae o ofgs ¥ o famar Sfeg

5. By adding to, or otherwise changing the crude

7

form of the noun, seven different forms, with different
senses, are obtained. These alicred forms are called
cases.

e % AI9EE 89 ¥ QY 539 SNESC I uad

o - L - T e -
qftaga =% 91T [&Gas o1 59 9re 9iF 53R %5 87 994
% | g9 RafsT w9l B wOF FES F

6. The 1 st case is that in which a2 noun appears
when it denotes the subject spoken of in the sentence.

This case is called the Subjective, or, more commonly,
the Nominative, case.

SUA HRF I S1aT & (@ dEr ger 3 ¥ sw sl
F ATTE 2idT & | S5 FRE F w9991 T AfyH g9feT w9
w9 T Ted £

7. Words which, in the crude form, end in the
vowels set down in NO. 3, commonly make the

Nominative by altering the terminations thusi—

fra w3l ¥ sfaRs s F ara ¥ 9T 3 % oA
fe 7 WA T oS A T@ AIFK ANRE ¥ I9% 9
qfiafda %t& Fal & &9 999 & \—
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ar ¢ becomes, in the Nominative, a1 al.

T ——— ——— z: th.
T — e e 1.
T U — — 52 ull.
mr — ¥y 4.

N. B—MNeuier nouns ending in = ¢ moake the
Nominative in 27 ai.

susa—{a7 agusfey dTnl wend ¥ O T §
S0 el A o & sar 2 |

Exercise 1. 313g1d ¢

8 Write down the Nominalive “casec of ecach of
the following words both in Devanagari & English
character

s fanfafed el &1 &9 SF & &9 [Gar -—
VOCABULARY 1 IgEEL L

s ( Yer ) asva 2 horse.

g=gr ( frse ) iccha wish.

grrEe [ |g0™ ] FTT T ST ) @sana ( n.* ) a seat.
srfir ( @apr ) agni fire,

F1% ( Fietr ) kaka a crow.

wrar { wrar ) mala garland,

Ay ( gfg ) §ri prosperity.

ayor ( fagiwar ) gura a quality.

fug ( faar ) puir a father.

guet [ g0 ] ( et ) vacana ( n.) speech.

#* The letter ‘n’ indicates that the word is Neuter.

age AYAHET
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=r7z ( srsg#1 ) candra the moon.
zg ( ¥9ay ) deva a god.
g=T ( g5 ) pija worship.
gz [ wge | ( =T ) grha ( n. ) a house.
aq ( gog ) dharma merit.
oty ( ot ) vizg a lute.
gfg ( @9 ) buddh: understanding.
17w ( S939F ) guwru preceptor.
star ( 91y ) jala ( n. ) water.
w& ( ®® ) phala ( n ) fruit.
1ot ( TrEor ) ravaza Ravana.
g ( Qg ) vrksa a tree.
5% ( sagEr ) baka a crane.
@& ( g:@ ) dubkha ( n. ) pain.
g ( g ) Satru an enemy.
gar ( ¥t ) sabha an assembly.
EB-'cif ( ssxaaran ) kartir a doer.
fasg ( fasa ) Sisya a disciple.
srra ( faae ) Srgala a jackal.
sa ( aftare ) Aula (n. ) a family.
ga [ ge ] (a1 ) vana ( n. ) a wood.
w1a ( |rar ) maty a mother.
gsaq ( 921€ ) parvvata a mountain.
weg ( =1 ) madhya the midst.
fgar ( =@ ) hunsa injury
g [ wge ] (a= ) patra ( n. ) a leafl
qfa ( 1Y ) patzr a master.
qrg ( TIAT ®E& qQr@r ) dhair a creator.
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aqree ( Gfsiss ) paniie @ traveller.
sravor ( =1EioT ) brdhmapa a Brahman.
Fic [ wde ] (g2 ) iwa ( n. ) a shore.
ac ( gy ) nara a man.
g= ( Far ) putra a son.
gx [ wge ] ( @wafw ) dhana (n. ) wealth.
g1 ( f&Tor ) mrga a deer.
ersr [ Age ] (=v4rsw ) anna (n. ) food.
gft ( fsygy ) Akar: Vishnu.
mre ( @ra ) Arodha anger.
grer ( §I1T ) bara an arrow.
=25 [ wdge | ufg=r cakra (n. ) a wheel
weas ( faz ) mastaka ( n. ) the head.
g9 ( ®=HY ) prabhu Jord.
if<e ( 1@ ) Sakii power
g9 ( Tiq ) sarpa a snake.
W ( g51%$ ) bhakia a devotee.

gfga (o= ) dulitr

gyg ( @gy ) swmudra the ocean.
geas [ w9e ] (gsasw ) pusiaka ( n. ) a book
=y ( @<=t ) kanya a girl. - '
a1 (A ) wyaghra a tiger.

g1 ( I9=1ET ) datr a giver.

g&a ( g1 ) kasta the hand.

" ( wa ) rama Rama.

e [ |ge ] sus Sastra ( n. ) a scripture,
gfer (geedYy ) bhami the ground.

#fq ( F7gT ) kapi a monkey..
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g [ wge ] (as ) Awia ( n. ) a sacrifice.
gsy [ dde ] (@ ) (n. ) a flower.
wfa ( =fa ) kavi a poet.

arw ( @i ) grama a village.

firar ( w19 ) Ariya action.

i ( 9g+g ) ruct relish.

gras [ g9e ] (917 ) pataka (n.) sin.
e ( = ) vidya knowledge.

gfu®s ( 9&r ) misika a mouse.

iz ( T ) cavra a thief.

Trd ( F1|@® ) bala a boy.

wrf@s ( |raY ) malika a gardener.
orRIH ( 9997 ) arama a garden.

i ( 993 ) tara a star.

Lesson 2. qrz =

9. Some final consonants, in the formation of the
Nominative case, are changed thus :—

g ¢ or g § becomes— % k. g n 1s dropped, and
oreceding vowel ( if the word is not neuter ) is length-
med. T 7 is changed to visargz, and the vowel is
engthened.

FBRE a9 § Fg ofeqaq sagdal ' @ TFIT
ifafda s fFar sar & o—

T m_\—mﬁmar%lqmaﬁn%mm%aﬁta@
B & A €9 A (afy gy agestie F K8 Q) a9
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T wrar B¢ e e war ¥ o ' S
s ¢ foar s E

10.  An aspirated letter is changed to the corres-
ponding unaspirated letter,

WEHIO 99 K SE% @EGEY  SESH(O I ¥ gI§
fear Stiar 2

11.  Some final consonants undergo no change.
aweq ¥ o1 A1 Z® saFAl ¥ F1E aRkaaq T8¢ avay |

Exercise 2. =tzqpg 2

12. Write down the Nominative case of each of
the following words in Devanagari and English
characters.

faeafafas wsal F T91 $F ¥ &9 fa@y —

VOCABULARY 2. st

T ( aroft ) vac 2 word.

ST (st ) rajan a king,

gfeas ( greft ) hastin an elephant.

f\ﬂ(\( =g ) gir a word.

. (&9 ) jagat the world.

fexr ( feqy ) dif a side, direction.

31‘!51*( ( srredr ) @tman soul.

e ( forsrey ) sidyut lightning.

a1y [ wge ] (A1a ) ndman ( n. ) a name.
fasfaw ( A= } citralikh a painter.
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Lesson 3. qiz 3

13. A Sanskrit verb, as it stands in the dictionary,
appears in the form called the ro0t.

deza fear faa v ¥ gezaig ¥ & T 99 ‘a1’ &9

¥ wEa £ |

14. To make the 3d person singular of the present
tense, the syllable f& £ is subjoined to the root. Thus,
the example, from the root &g as, ‘to be’ is formed
affee asit ‘he 1s° .

gEUIE FE@ F TAAGET THAGA H €7 9 ® f@Q
g ¥ ‘Y’ erae stie SIraT B | g8 ST SgIEond ‘o® 8
oo} &1 urg | ‘efed’ (98 T ) ® aw1 |

15. When such a termination as # (INO. 14 )1
subjoined, the root generally requires to undergo some
change. According to the nature of this change, roots
are divided into fen classes or conjugations.

sa i (fyam ) Jar a1 5w NeT S| g a
grarFaa: 91g ¥ 3% qftadq ewaza® & <Al & | 59
qRads & TIET F YR qIge B @ g9 ar qon F
|y AT B |

16. Roots of the 1st conjugation interpose the short
vowel 87 ¢ between the final and such a termination
as ¢i (NO. 14), and change a final simple vowel™ in the
root into its corresponding imgroper diphthong.

S| OT F argel W Afeqw 99 o7 Y (fraw 9%)
I 7w T AT gE o Ser - AT B S u1g ¥ N H

* Or a short vowel when a consonant follows.
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Sig Eﬂtd ATE T R F THE AN TYH @ A Agq 390

srar 3 |
17.  The improper diphthongs, or guna substitutes for

zhe vowels are the following :—
@l % fad 93 T a1 OO F ARy A § —
of g i or § 7 the gupa substituteis @ e,

—g uory & — e s o.

—BIrOrE I — H ar.
Qﬂrémrgﬂlmﬁﬂt{@m

=S AT Ty aﬁl PIEL

—ﬂﬂ]“ﬁlﬁ,, LH bh ) 3"[{.\ 5 ™

18.  The improper diphthong @ is changed to 31
29, and & 0 10 %5 _av when a vowel follows.
9 g ¥ WS T AT E AV Egw 0w W ‘qy’
T ‘A B ‘o’ &Y T g |
Exercise 3. swsarg 3
19. Write down the 3rd person singular present

tense of each of the following verbs of the Ist conjuga-
tion, both in Devanagari and English letlers, with the

meaning in English.
T NUW A0 A g ¥ A% F 990 A F 94K
9eY ( 4 qET ) THANA & ©F HIaiw faar i—
VOCABULARY 3. megraat 3

3 ( &rar ) bk to become.
& ( gAsr ) af to rove.

* HIGT T qIE # FFA  H1A- O §eq & |
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Héﬁ( Qg giAr )ark to be fit.
fax (s grar ) kst o decay.
9 ( =F@«T ) car to go.

95 ( araar ) vad to speak.
g9 _( Tgan ) vas to dwell.

58 ( @rar Juah to carry.

717 ( QBT ) Suc to sorrow for.
for ( |ar ww&T ) $71 to serve.

& ( sha=r ) Ji to conquer

g (9T H/Er } ¢r tO Ccross over.
st ( grgar ) iyaj to abandon.
g% ( st&mEr ) dal to hurn.

3 ( gar ) dru to ooze.

9 _( 9%MI ) pac to cook.

qq ( figar ) pat to fall.

wd ( wEAT ) phal to bear fruit.
g { St ) budh to know.

& ( & ) s to go.

&9 ( |l ) s7p to creep.

g ( 917 ®IE1 ) smy to remember.
g ( gqer ) has to laugh.

z (@« ) oy to take.

@ ( @gar ) khan to dig.

S _( S ) raj to go.

79 ( Fg=grAr ) jalp to prate.
99 ( =@« ) cal to move.

uy ( gaar ) bhram to wander.
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Example. The root of 33 bk, by No. 16, becomes
37 bho; and the vowel e is to be interposed between
this and the termination f§# ( No. 14 )—so that we
have bho + a+ 11 ;—and then the o being changed to av
by No 18—we have wafy bhavati ‘he becomes.?

TEIEO A a1g A AU 08 gy W BN e zEds
g7 ‘e wega (fagm 9% ) F AT ‘o0 #6T @1 H@N—399
A+ % + fr sdr—ag fagw ¢ gRT @ 9t ‘e ¥ agw A
w—‘wafy’ wq Shr, fagesr o &Y Az star & |

Lesson 4. quz 9

20. When one Sanskrit word immediately follows
another, some change often takes place in the two letters
thus brought together.

9 GEHT N UF 3 qAL YT F A qE AT L
T 3 THR o QT faaw ara & 9ot F 913 g5 ofimad
g |

21.  If the former of two words placed next to cach
other ends in =i afs, and the other begins with a sofi*
consonan; the a1: ak is changed to et 0. For example,
#4: devah, the nominative singular ( No. 8 ) of ¥ deva ‘a
god’, 1s placed before azfy vadati, the 3d person singular
present tense ( No. 19 ) of sg vad ‘to speak’—the two
are written thus—3ay 52y devo vadati ‘the god speaks’.

* The soft consonants are ga, gha; ja, jha, da; dha; da, dha;
ba bha; the nasals, the semivowels, and Aa,
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afs o ST & T oy geal ¥ 9EW YeT % Aeq ¥ ‘er
arar ¥ ot gau eE () 97 & saSA ¥ AW AT B
ar ‘er’ Y ‘ol I gz@ far swmar ¥ S{iExw % fag 2
wyly 3T TEE B FA H wHaTA (39 5 ) w5 6T T
‘Fg’ Ar@al 9Ig T IAAIT HE ¥ 949 g&7 (e gEy )
oFA=A % &9 ‘Fgfd’ F 9zd AMET & ol 59 9 B 2F GFQ
farer sar ¥ —3ar agfa’ I3ar shaar T

Exercise 4. sqeqra g

22. Write the following phrases in Sanskrit, both
in Devanzgari and English letters, taking the words

from Vocabularies 1 and 3, and paying attention to the
rule—No 21.

The crane wanders. The Brahman cooks. The
god laughs. The jackal dwells. The quality becomes.
The horse carries. The traveller knows. The tree falls,
The man prates. The leaf decays. The daughter
abandons. The father crosses over. The mouse digs.
The water oozes. The mother speaks. The girl serves.

FsEIaE ¢ ofiT 3 ¥ Weg @FC qUr faad =% # sare
TEX g 3 AT B GeET § f@@r -—

TIAT gHaT 2| AEO gwEr 21 39 gEar ¥ | faan
gar T | qu grar § | =gy 2ar & 1 U Swan g | 9 fawar
¥ | gy gegerar & | 9ar @8 AaT T 1 g et T 1 far
9 FET | gEr @ar &1 Ol At ¥ | mar Srad ¥
weH qu FE 2 |

 Hg AT B W, T S, & W T, W JIAF, T
o H|IT T |
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23. Write down the meaning, in English, of the
following phrases :—

faeafafera st 1 o faar —
gAY safy | s 26T | Ao a9kt | g ey | g

wafy | 33 agfa | qoasfa | a Srafe | o gafy | o
wufa | gy gafa | aee Seafd | ar zafy )

Lesson 5. Qg '«

24. If the former of two words placed next to each
other ends in wsarga, and the other begins with any
hard* consonant ( except a guttural, a labial, or a sibilant
—before which the termination may remain unchan-
ged— ) the visarga is changed to a sibilani.  For example,
when the word &if& laraii comes afetr the word graor:
brahmaiah, the two are written thus— gmoea®
brahmanas-tarati “the Brahman crosses over.?

afy % QY @ T g7 TEET F UEa 5T B ofed o (e
onaT T SR gaU TsE {5 w8t su@ma @ ( wvE, sEy
ar 9 B FEW—(7a% 29 T Jrar Afeaw e
Ui W & @%aT & ) NEF Siar &), ar faeaT & oSSy
gt ¥ =g« 30 € | AW ¥ faw w9 QiR weg wmmon
6% & I SIGT & Al 9 gl $ 36 9B fa@d g—
‘Fraoreafer’ STANT AW AL HET 2 |

* The hard consonants are ka, kha; ca, cha; ta, tha; ta, tha;
pa, pha; and the sibilants. :
PRI —6 & W, 5 S 5 D D T F AT I A6

‘o’ AT IW A B, W qE 941 @ g7 !
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25. A sibilant § must be of the same class as the
consonant with which it coalesces—that is to say, S is
the sibilant when a palatal, such as 5 ca, follows; and
¥ s when a cerebral such as z ta, follows.

ToRINT I qT T AR %rrrgq g a1 #1 sa%
Y EGF SI9 @ sAgE—ared 95 ¥ 5 99 31 qrasy
O 74T AT HaATT AT Fow amaﬁt w9 H1E geeq qo
TAT T A1 H 417 &1 T T5T 07 55AT B

Exrcise 5. =glg ¥

26—Write down, in Sanskrit, the following phrases
taking the words from Vocatularies 1 and 3.

The devotee crosses over. The treec moves. The
Brahman abandons. The jackal creeps. The son
remembers.

TEEERT ¢ W 3 Y wEE wwd fasafsias Al @
e W faw —

N I WA R YT ST R | omEw giear 2 | faur
IHAT & | I AT AT |

27—Write down the meaning, in English, of the
following phrases :-—

fasafafes sl 31 29 fagy - —

g wifa | osgnresify | g sadfy g ggfy | e
gafd | Traoegsfa | gy | 9 wafy | ger aafi |

* ar is the palatal sibilant, § the cerebral, and @ the dental.
T AT 3, ¥ gUT WK T A |

R e
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Lesson 6. 913 %

28 The 3d person singular 2d future ends in @afg
syati or geafq isyati. Thus the verb i bhit, which makes
wafy in the present, makes wigsafy bhavisyasi ‘he will
become.’

ZE AfISAT. FI@ F Aqq GET (o IRT ) F FIF |
&eq o ‘fﬂﬁl" i ‘geafe’ enar X1 ogm awmi o fwar |
frazr aqam ¥ ‘vt &9 ar 3, ‘afasafa’ (98 e )
7 qaar & |

Exercise 6. 3qTA &

29. Write the following phrases in Sanskrit :—

The horse will fall. The Brahman will speak.
The son will wander. The tree will bear fruit. The
man will remember. The jackal will take. The Bra-
hman will know. Rama will laugh. The horse will go.
Ravana will cross over. Rama will conquer.

fagfafas aiFal & 9€5q O @@y -—

g fRar | =@ Sraar | gE gaar | Ug wadr | g8Y
arz S | faa @ | SrEe Sraar | ga g9 | FiET
I | CHOT X FAT | T QT |

30. When the future is formed by wafa syaiz ( No.
98 ) some change often takes place in the final of the.
verb. The following list may be committed to me-

mory —
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w7 ‘eafe’ Sew (faaw 5) wfisg s 51 &9
garar At & At fear ¥ efeaw st ¥ w3 aftasy
Srar & DS o g 3w s ana ¥ o—

wzafs  takgati  ‘he will abandon® gz gy

geaia dhaksyatt ‘he will burn.? g5 STETIT
Zreufy drosyati ‘it will ooze. 9z I
e ol paksyatt ‘he will cook.’ 98 SHEAT
Jsafs jesyati ‘he will conguer.? 95 Saar
geEafqy  vaisyatt ‘he will dwell? CERCU

Exercise 7. =zivguem

31. Write down, in English, the meaning of the

following phrases ;—
freafafas sl =1 oy faay —

TH ESEAT | AT 9Tafy | sarEr Jeafy | S weafy |
TRe=aly | argen ulea | 3 saftsafy | wey gfteafy
faar gifgsar |

Lession 7. quz @

32. The 2d case is that in which 2 noun appears

when it is the object of a transitive verb. The case is
called the Objective, or more commonly, the Accusative
case.

gAY FF 95 2197 & (FGH d50 0e7 fodl a5as e
% FH ¥ T a1 T | 57 FLF T R BOF F2 ¥ |

33. A transitive verb is one which gives no comp-
lete meaning, till some person or thing is mentioned, o
whom or fo whick the action was done,
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Rama killed—( killed whom ? ) Ravana.

AFNE 5Ar 9E I & S 9@ GHd 9% His 9U oY
T8t 31 = aF fee U9 S9f® 97 9%g F Sva@ A& A
fra® sfa wa far war €@

aw & (g a7 ) uaw @ an |

34. The following are the accusative singular end-
ings of nouns that end in a vowel :(—

becomes T .

g a
AT 4 — AT am
T 1 —— g un
3 i _— z In
T u g

s 7-(in some words) &% ararm, (in others) =T aram.
. . -, <
famafefas meg d@el @ s9ET, UFdST S 69
¥ @ny 9w 599 § —

& — &  sysar s
q — T (LI I IEEY
g - § 5301 9
é - g I LI L
g — S PR LT

= (7 et o ) od % (33 wrel ) nd &Y war 7
35. The anusvara, when followed by a vowel, takes
the form of g m. When followed by a consonant of
the five classes, the guttural, &c., it optionally takes the
form as well as the sound of the nasal belonging to
the same class. Otherwise it remains unchanged.

Thus &= agfa annam vahati ‘he carries the food*—zseq-
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gfa annam pacati ‘he cooks the food’—siseeaafa annan
tyajati ‘he abandons the food.?

% AGEAR & 418 WE <A Aal & a1 AENL B ‘T’
S WA R | o9 vEE arg ST ouft 9fT ot W WL
ST ST & A7 (67T © 95 ®9 i@ § oNX a4z S9 a9
F1 wgarfa® a0 &7 Srar T, SeTs AuRIfas 947 AT g |
TE A% ‘aF 33 9 em W wiET & emessiy 9% o
qIE T—qHITR 95 oA BT 2 |

Observe that the accusative is generally placed
before the verb, as in the examples just given.

) o - '-‘&-
q1 51 (% Sraraa: B8 (5T % s @ FAT § Sl
& enafl &3 a3 sarayo ¥ |

Exercise 8, =3qug ¢

36. Write down, in English, the meaning of the
fGllWing phrases :—

fyeafafas arat &t 9 faar —
R qmwf& AT | gEeaAfa g | el ewud s |
g1 Aaf ey | @ty vao | g el ga | |El
T 71¢ | g waftsaiy s |

Exercise 9. wxgra <

37. Putinto Sanskrit the following phrases i—

The father knows ( his) son. The Brahman will
remember the scripture. Rama will abandon the house.
The car carries the man. The son will cook the food.
The devotee will know the god. The crane will cross
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the water. The mouse will dig the ground. The son
will serve the father
Frafafaa st & dege ¥ faa i—

faar (erws ) gz 5 stwar B | s g @ a1z 31|
A T | @ gEw A ey ¥ gw o gmear | aw
R & STANT | Al @ A BRAT | 37 A ST @R |
g3 & & Qa7 By |

. Lesson 8. qiz ¢

38. Some useful verbs of the Ist conjugation form
the present and some of the other tenses irregularly.
The following roots, with their 3d person singular pre-
sent, may be commitied to memory i —

9UR A9 F Y A BAG] % G9AT B U7 TG
TR B § N wfqafes w0 a=a §1 fetifen age
P, IR AGHT Bla G747 570 (O 98T ) THIIGR F ®9
¥ @1y wg {5 o7 owa & —
#r  kram makes smyufy  kramati ‘he walks? 5z g@ar ¥

g gam  — :rﬁa;ﬁf gacchati *hie goes.” T HAGT %
T4 gup —  Twafy gopayati ‘he protects’ =@z var
FIAT &

- ~ T LI s v R,

W ghda — famfy jighvaii ‘he smells’ sz dgar ¥
S jw  — Safe jwati ‘he lives’ sz sfiar &

g da  — a=gfa yacchati ‘he gives’ g AT T
e 4 —  ugafy  padaii ‘hesees’ g I@ar &

a pa — fysfa pibat: ‘he drinks.’ &g diar &
vy stha — f9gfa tisthatt ‘he stands’ 3z @ep
gfr ¥

5 Sru — syomfa  Srnoti ‘he hears.” g gqar %
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39. When the 3d person singular ends in sifg azz,
the 3d person plural ends in effeg ante. Thus wafeg
bhavanii ‘they become.’

FE SUH 8T AT > ¥ed o ‘Of® @@y T oar syq
9ET FEEAA % o § ‘afa’ wiar 2—wafa ¥ ey ¥

40. The negative is & na ‘not® :-as 7 Wafy na bhav-
ati ‘he does not become;® 7 wafeg na bhavanti ‘they do
not become.’

feagaras qeg A (981 ) § —or, ‘9 Wty 3z w6t
Srar 33 ‘W wafa’ ¥ gl AN E |

41. Interrogatives are t%q ki ¢ what ?—g= kutra
¢ where *?—%3r kada ¢ when *?—szga: kutah © whence 27—
f%ﬂ'ﬁ'l{ * why ?>—=%%g ¢ how >—&c. Examples: 3%
gzfer kim vadaiz € what does he say *?—zx gafy kuira
vasati ¢ where does he dwell *? ﬁamfﬁqaz:g—;}} o TRy
kimartham pitaram puiro na smarati ‘why does the son
not remembper the father °?

grasiwE YT 2 FRW—Far { ‘S %Rl (1 ‘Eer—
91 ‘sar—zal @7 ‘FRadw—sdi | Sq—aE
sy | sgrew i—0% azfe—ag #91 s & 0 g9 Safo—
3z %27 tEar & 1) Pemafqawgs @ saifd—ya faar @
g4 w4t arg wear 7 7 |

49. Verbs signifying ‘o go fo* require the accusa-
tive of the place gone to, Ex. il n=gfa kasin gacchat:
‘he goes to Kadi ( Banares ).’

freht T R SAT HG 3N A@y eaArdl % @ g
T FT ATAT AT & ST F FHFAF 21dl & | IZEIT 1 —
it iR\l (Ao ) srar g
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- Exercise 10. t¥arE o

43. The son smells the flower. They go to Kad.
The crow does not see the jackal. Rama walks to the
mountain. Why does the father not protect the son ?

The Brahman drinks water. He gives the food. The
devotee remebers the scripture.

9 FA guar 21 ¥ weh sy ¥ 1 S faw 5 ad
WA T | YT AT Ia F | faar 9@ A F9 ad

AT ? @ oy A T g7 ws A 2 | ww Qe &5
FLOT HAT B |

Lesson 9. iz«

44. The Nominative plural is frequently formed
by changing the termination as follows :—

3 ¢ or &7 & { masculine or feminine ) becomes ay; k.

e a ( neuter ) oTIfe dm

T — —  u:w apah
T U — o avah.
r — e %Y arah or R arah.

FUBRS FEITT H &I A4 3§ FX  @fqa quf a7
aRqET FF qAAr QAT T —

w ar er (gfagarsifeg) om g ®

®  («gEw) sife 5
Y — — 2 O TR
g —_— — CE MEETIT
2z

— — ‘T gr i AT gl
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45. When a soft consonant, or a vowel, comes
after s af, the wsarga is dropped. Ex. {u: nardh
‘men’ :—AY AGfeq nard vasanti ‘men dwell’ qyr w=fEg
nard arhanti ‘the men are fit.?

9 BE Gg SIFA, AT AE TR AL F Arz onEr &
ar fradl &1 @iT & SEr E | SEEw Ay @Yl gET—
a1 gala ‘geT Y 3 A% AT ‘gt 919 27 |

Exercise 11. =zavarer 12

49. The mice creep. The thieves take the food.
The men laugh. The Brahmans will prate. The jac-
kals drink water. When will the sons cook food ? The
fathers do not see the flower. The men go to the
shore. The Brahmans will not cross the sea. The
flowers fall. What do the men say ?

TE I E | T www @¥ 1 gaEY @y 1 S
ggaery & | fharg ot 9% ¥ | g3 ot %1 9 { fgar
R 921 3@T ¥ | gET @EIAS W A = | A9 9HE W
FET 9 & | Bw fge & | guT w47 w84 2

fFad au T agha | gun ofsafeg | o gan g=afia |
HIFN T T | Fear I o557 | w3 afewafem | G
eNT nFgfea | gan watea |

Lesson 10. 913 Lo

47. The Accusative plural is frequently formed by
changing the termination as follows :—
A a becomes  efry an g ¢ becomes T I

-—
=

8 u — ¥ un |y —— A I
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FHPRE ALATT 1 &T 974, AfAT e BT 57 TFR
gfafas & aaar & —

¥ — o FErsl ¥ — S a1 |

¥ — FTH oy g g B = EFq ooyl

Ex. gara wzfy devan smarati ‘he remembers the
gods’ gz Baarerl W Ag @Ay 3 | wIAL wwafa Sasrin
pasyaii *he sees the enemies? g7 AT 7 3@aT ¥ |

Obs. A neuter word is always the same in the
accusative as in the nominative,

s —aUnS fAg TRT & SRS ¥ 939 I8 &9
TEET & AT HACS F A 3

48. When a soft consonant or a vowel follows,
then z: 2 becomes zI #; and, in like manner, g: i}
becomes §T #; ¥ uh becomes T wr; =i el becomes qag_
er; W aik becomes?zt air; A ak becomes =T or; and
e auk becomes fT aur. Bx. wfgzfy kavir vadati ‘the
poet says.’

T BT Y SIFA AT T HF F Q@T F A g’as. gV
T SE GF) ‘ﬁ" ST QST TR I @
‘qU; A @ VY e wm é‘ﬁ” qarr ‘S = AT &)
¥ | s O—sfEg A — e ¥ |

Exercise 12. =wapg (R

49. The crows see the jackals. The jackals do
not see the crows. Rama sees (his) enemies. The sons
protect ( their ) fathers. Why do the sons not protect
(their ) fathers ? Rama protects the monkeys. The
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fathers sorrow for (their) sons. The Brahmans remem-
ber the scriptures. The boys smell the flowers. When
do the men go to the villages ?

#C famd #gEa § 1 faar S #r a8 3@ T
ga (eras )mgan Bl g@al 5 | g (e:rqar) ferrett =t Tt

1% | gz (eraw ) faarsr # T AT ?rﬁ T 8 1 ?:m

CEEEy %r @ wars | far (a9 ) o S e gs 5@ &
IR0 TS H T FE 5 | @H FAl B GF9 § | aim
AT HT FA S 7

gan wd qanfo eRfsal | TS s nmrmw?a'
gar | FF asgFa e | AR w9 7 ggafE
sfagar gzafy | g8 wegla aimon | glgar swafy faagg |
wf: waf n=xft | o9 sl fign | i afawfa g@e
e g ueafe e | gE el 3w | A ud g i

Lesson 11, a1z 32

50. The singular of the 3d, or Insirumenial, case, is
frequently formed by changing the termination as
follows :—

JdE A FOHERE B TFAIA F & A Afeq T
T BT T T A F FH9 @7 &

g1 a becomes aq end. g ¢ becomes 3IAT nd

T u — AT una BT r — y ra.
‘g — ‘ax’ SIF@ErIEl 9 — SEra s el
8 — Q[ar 4 4 gl H— U 35 93 33 |

Ex. gedw gtfa hastena harati ‘he takes with the

hand’-3g g1y & Rar & | <if¥Ar aafy agnind dahati ‘he
burns with fire.’ ag s ¥ StarET & |



[ == ]
Exercise 13, avgqra 3

591. The men cook the food with fire, The Brah-
man burns the sacrifice with fire. The son, with his
hand, carries the flower. Ravana, with anger, sees
the enemies. When does Ravana see the encmies
with anger ? When will the man take the flower with
his hand ? How will the deer cross over the water?

The son, by wealth, proctects ( his) father. Men
live by food.

gET AT W 9T GHEQ T | A0 S W AR Farar ¥ |
97 A9 1T @ A & AT E | YA B F qFAT H g@aQr
2 | AT UFAT B FT BT G 2@AT & 7 GRT FA A9 &Y
|/ Ba Q0 Q9 Y 9 F G F  gA a7 U (SI9)
o =Y & AT F | T oAy ¥ A E )

Lesson 12, QI8 1R

52. The indefinite past participle generally ends in
q ta, and, like an adjective ending in 3 a, takes the
three genders, thus :(—

yawifes FI@ w1 ¥ oFg W Qe ‘@ w@r g
AN OF BT wEE F gura HAHET 9 9 5q@F Al fag
3 AFT &12 § i—

Masculine dfqe Feminine ge Neuter qgo

Sing. nom wegemal & itk ar £a g tam
© © 33. The following list of past participles may be
committed to memory :—

YaHIfas Fq weal & faeafafas g g @ ar
g%l & —



[ e ]

Taqq smria remembered. 17 fHAr g |
I<F ukta said. el gotr |
AH tyakta abandoned. greT g |
ga krta taken. faar aar |
faa Jita conquered. snEr 147 |
ag gata gone. a7 g=ar |
gd daita given. fegr «ar |
s drsta seen. Escikiei
qfaa patita fallen. frr gaar |
SIG) pita drunk. faar oar
A yata restrained. Tiawr T |
qaT bhiita been. gel |

G sruta heard. ger getr |

Exercise 14, 233 18
54. ‘Translate the following phrases :—
fyrafafas aEar 1 9g9g B4 —
qrest sae THay | g U e | s gEad ga |
- —— I L R e R U LR
zer | @@ SEdA 9@ | Biar W (a9
The son, abandoned by the father, goes 1o the
village. Ravana, conquered by Rama, will fall. The
jackal, seen by the man, will abandon the village. The

sons abandoned by the father, will wander. The crow,
~ seen, by the jackal, drinks water.

fyar & Ser @ gA TG S FET R | U & ST @
qau B 927 ) gEY & y@r @ faar aie s |
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ga fear & a‘ré HIHT FUT | fHAT W F@T 74T HeAr Gy
far ¥ |

Lesson 13. qig 2

55. The 2d preterite is distinguished by the redup-
lication of the root. The termination of the 3d person
singular 1s et ¢; but if the root ends in a1 @, the termi-
nation is a7} au.

eQed YAFE a7 fae @w & 2z fane fag 3 5 sad
q1g &1 fgea Zran | quwgaes (eieage ) GRaS9 @1 969
‘o T feeg afs a1g ¥ wrew ¥ ‘ar Siar ¥ 9 98 g o
e & |

56. In the reduplication of the root, a guttural is
changed to a palatal-ie, % korsg kkis changed to
qc

a1g F f3eg as ¥ %98% g0l B qi@sd F agd (e
AT B—aar A @ w ) F ggw e B

57. Other changes—many of them relating
to single verbs—occur in the formation of this tense,
At present the following example may be commitied
to memory :—

gal ufgaq W—faa¥ sfusia fedr fafas Peare
¥ TG E—34 @ 56T T FEw T ey 3w
SIEON Y 91T T@T &7 GHAT & 1=
Y Obhi makes qgx  babhiva he became IZ AT
Tq gam  — ST jagdma  he went 98 T340
qL car  — qIW  cacara  he went ag gal
f& ji - fama jiggpa  he conquered. zg= sfar
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g fr - gar latdra he crossed over. 3@« I fHar

£

asiya) — AT tatyaja he abandoned. =@H gl

a1 da - 351 dadau he gave. R CREE!

2z dah - z=ig  dadaha he burned. G @A

zxrdrd - zgm  dadarfa hesaw. sgy =@

g dru — 3313 dudrava it oozed. 7E AT

qr pa - 99 papar he drank. g« (a3

9 pac — aqiF  papacahe cooked. T TFEAT

qq pat — qur@  papaia he fell g faw

g¥ budh~ gavg  bubodhg he knew. SEERSICH

w7 bhram—m babhrama he wandered. & W&l

g vad — sarg  wada  he spoke. gz FrEr
CgFoeas - SAF  wwdsa he dwelt. 98 @l

58 vah — =ag uvdha he carried. T ar

g%; Suc — g dudoca he sorrowed for I Qe far

S dri - fywm Sisraya he served. sEd QA H

g $ru — gwra Sufrave he heard gas gar

=T sy — | sasara he went. CERIE

qq srp - @aq sasarpa  he crept. ag &

g smr — TEHI sasmara he remembered. g@« 417 f&ar

g su - G susrdva it dropped. g [’

=9 has — wer@ jehasa  he laughed. ag g4l

z hr - SR jehara e took. gq faar

58. Translate the following phrases :—

freafafiag srEal %0 gaE U i—
qaoi fera Tw: | @y aar) s | gaeaars fae |
ot FEuet @ QI AC | G E T | e S g |
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qC FF a9 | {991 gAGAF | oW TG | T T gEia |
3 St 94t | A a9 S

The horse fell. The man did not cross the ocean.
The Brahman remembered the scripture. The father,
abandoned by the son, wandered. The jackal went
to the shore. When did the boy laugh ? He gave
the food. The Brahman heard the scripture. The
girl served ( her) mother. The fruit, taken by the
hand, fell. The thief, seen by the man, crossed over
the water. With anger, the enemy burnt the house.

srer f | 98T & 97 1 9re agt far | arae X ne
%1 THIO fHAT | QA GO0 gier A1 fyar wawr | fqarw agz-
qZ 9T AN | @SH F9 gar § S|w o far | mwor ¥ e
gar | @ A ( oraell ) @y o [ar A | 5w ¥ fwar v wa
e 92 | 939 g1 WA I T qr @ 9R GRAr | sy
g 7g & 9T Srar fgar |

Lesson 14. qiz {2

59. When an action succeeds another—as when
“Rama conquered Riavana, and went to his home”—
the former action is commonly expressed by a partici-
ple called the conjunctive, which implies Aaving done so
and so.

A G M QAR HA T AT AT F—RQ-4gA T Em
B AT X I3 W9T 9 qA” & 9gd oW AT H0d @
QIEHAFIE: FET G 59 A & (M Q@afas a1 ATgIEs
P F8T § o fraer otd &ar & var & |

60. The conjunctive participle ends in &7 fva. Ex.
udAr A fa@r 9§ smw Ramo, Ravanam jitva, grham
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jagama ‘Rama, having conquered Ravana, went to his
house ( or home ).
‘i‘ﬁbiﬁT%ﬁi (5631 & Heed & =T ¥ ST enar % SIELU—
AT 30 Fieat 98 S UE TS0 BT SNTE g "9 aYy |
61. The following list of conjunctive participles
may be committed to memory :—
gasifas frar % Fewl @ faafafes g arg & s
gHdT B —

gear bhiilva having become. ETFT
sy tyakiwa  having abandoned. Figst
CEEH dattva having given. TFHEC

X | hrtva having taken. FAFT
qrey pitvd having drunk. R
Tgear smriva having remembered. a1z &t
T gatva having gone. SIE Ty
FETET drstoa having seen. TEFT
AT Srutod - having heard. AT
fegear  sthitvd  having stood. @er A

Exercise 16. 213918 %

62. Translate the following phrases :—

The Brihman héving gone to the shore, drinks
water. The son, having abandoned the father, will
wander. The men, having seen the tree, will go to
the village. The jackal, having drunk water, went to
the shore. The son, having remembered the father,
spoke.

?
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farafafEaa aFal o1 Agag & —
AT AT 9T AE Al §|r T g A @ gew
WEHal | G8T I B S@HT A B AT | f@@my @ AW

@gzas H 191 | g fqar @t argE qar |

gat: fqar ey 92 g wafa | arEon qE TgaEr J18
TAT AW 99| FA Al €A G| 9y g SEd |
AR S QT FA arasEfq |

Lesson 15. qiz &

63. The following indeclinable words, including
those given in No. 40 and 41, may be committed to
memory.

frafafaT 1sag ¥sat aur Qo ofiT ¥ ¥ sreana (3 ma
STGT BT Al FL @A TG |

Vocabulary 4 msgtast 8
SEREHI, akasmat unexpectedly. srgmas
o atra here. BEed
T adya to-day. AT

®Fy  anyaira  elsewhere. galy
T atah hence. [ then ] zafaa (ax)

Hq atha so, thus, well. gy, T TR, 557
qgAar  adhunZ now. , g

ssqaT  anpathd  otherwise. Fgt ar

sfa i so, thus. T, 39 9%

g wa like, as, so. atE, Ay

qF ¢katra  in one place. us g
FIr  ekadhd  in one way uw qFR o



g
fzar
HEl
fFE
faEg
T
qa.

agr
aernfe
T

3§ £ 4
agr
A
AL |
28
TEHIT
ag
FAG
ETAE |
feeg
-
gAfag
aA

a4qr
SIEGE
g9
a7
T

evam

dvidha
kada

kiica
kim

kutra
tatah

tada
tathah
na
prayal
yada
sarvalra
wdanim
tha
ekada
eva
katham
kadacit
kintu
kutah
kutracit
tatra
tatha
tavai
punar
yatha
samipe

[ =% ]

thus. g HEHIT

in two ways., &l 9HIT ®
when ? F
MOreover. =¥ ofafis
what ? Far1 ?

where HET

thence, after that. g=, I9% =1
then. GE|

thus. TH ORI
not. CEL

mostly. AfgEaT
when. S o)
everywhere. @} stig
now. T @a7
here. a&T

at one time. Q% HIT

also, only. Gl

how ? Y
sometime. FHUT-HHT
but. q%g
whence ? HIT &
anywhere. HEY

there. qaT

thus, so. TH g&HIY, vEr
sofor, so much. 7127 a%, a4l
again. f&T

as. I

near to.. fasz
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@agy  sarvadi  always. ey

f&x hi verily. qIgT

64. Tt will be observed, from the foregoinglist, that
the interrogatives begin with £, and the relatives with 7.
The termination of #ime is da—as in g8y fada ‘then’; that
of place is ira—as in g9 taira ‘there’,

zg g § ag 3@ S % awaras 9sg F W a9
HaFaaras s34 g Uy 21 T | weEas gy qr
3% ‘qar (&= ) ¥; eAMAEF g@q 9 E—IJ@ 99
(&7 ) ¥ |
Lesson 16.  qQiz €%

65. The 4th or Dative case; and 5th or Ablative
case; of many words may be formed by the following
substitutions. :

qgd ¥ USAT 9 TFA A @EEGIT HIE AU @ AT
AAIA FAF (FAfargs qeqdql w1 SR FWF ga09r
AT B —

Sing. Plu.

oFFo qgdo
For final } Dat. (sgdt) sra aya  wix: ebhyal.
o a :
HEFT F ET%T{ AbL (q=+) st @t wym: ebhyah.
For final | Dat. (mwgedl) &X aye gvac ibhyal.

; .

gam:;;a % @) AbL (d=df)) @@ ek gxm bhyah.

Ex. ygra ramaya ‘to Rama’; uw $Y; yaone ravapat
from Ravana’® rgor @ wa: narebhyal “to or from the
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men’ AFSAT BN AT AFSAT ®; 2@ haraye ‘to Hari® gfT =,
%3 kaveh ‘from the poet sf¥ |; =fava: kavibhyah ‘to or
from the poets’ #fyaf =1 ar =4y I |

Exercise 17,  wvgre 26

66. The father gave the book to the son. The girl
goes from the house. Unexpectedly a flower fell from
the tree. He gave wealth to the Brihmans. Ravana,
from anger, will not speak. He took water from the
ocean. Then the king gave wealth to the poets, The
arrow will fall again.

f4qr & 97 %' gEa® 31 | @SH I WA T | ATES
¥e ¥ s FF A | ST F™OH F 97 frar. uFo wa
qEt Awar | wEY g7 o S« f@ar | A yar g wfagi w
aw {231 | =ror v 98 fEar |

SAFEATT JACAIUA q9IT | faqr w291 gara ged 34l |
qaT IAT FFWE 97 FRGht | w g qfqa  gegar o

gATT 351 | B9 od gUd @R | ey feuar agEe a9
HEIT |

Lesson 17, Qs U8

67. The 6th or Genitive case; and the 7th or Loca-
tive case; of many words may be formed by the follow-
ing substitutions.

qEA & TEET W 9T AT GEAFT 92 qAT GHA AT SATCHT
F[{%; (ArAf@@T qeaqi 7 AEY F&F 414 T 5 —



[ %= ]

Sing. Plu.

aF q° qg q°
For final L Gen. (3§1) ereg asya <A andm.
a7 a
JFMIFT & wry) Loc. (agdl) @ e ug  esu
For final ) Gen. (9g) w e¢h  gaf  mam
g i ~ _
A % @) Loc. (mmd) et aw 3y i

Ex yrwea ramasya ‘of Rama? ua & wgz samudre ‘in
the ocean’ agz X tire ‘on the shore’ gz 93 gt
devanan ‘of the cods’ ZRATHT FI; mﬁg gramesu “in the
villages® sitat #; g4 hareh ‘of Har® gft @1, sdiai kavinam
‘of the poets’ «fyat #1; =t agnaw ‘“in the fire’ syfyy T
qfdg patisu ‘among the masters’ xrfaar 3 |

Exercise 18. stxqmg t¢

68. Rama dwells in the wood. He saw the house
of Ravana. He sees a garland of flowers in the hand
of the Brahman. Men dwell in houses. The family of
the jackal dwells in the wood. He stands in the midst
of the fires. He saw the crow on the shore of the sea.
He sees the flower fallen into the fire,

YW a7 FIEAT T | I@T YA B 9 I@T | a9 F(@OT
F 9 ¥ AT ) o arar 3@ar | aged g0 Foc@d 3
faar w1 aRare a= § wgar ¥ 1 a7 «tfyay & @ ¥ @er 3
Sa¥ FC B TgT F e 3ar | a3 ofr ¥ AR gg g A
@ T |
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g w1 aafy | sear @gzed a3 feuar 9+ vwafq |
s TTeRT gaq. ufad weeAr wifas: g | ! EEIC
e fegear g2fa | SIERT @EY 9 9 9@ | 999 AT

g gafa |
Lesson 18. qiz ¢

69. Adjectives, when declined, are declined like
nouns. They are very commonly, however, prefixed
in their crude from to the noun—and then they remain
unaltered throughout the declension, forming a class of
compounds termed Karmadharaya. Thus the adjective
top krspa ‘black, with the noun &g sarpa ‘a snake,
may be written msoi: |9 Arspah sarpah, or HEOTHY:
krspasarpah  ‘a black snake’; and again FEqa @Yol
krsnena sarpena, or mwurgqer Arspasarpena ‘by a black
snake.’

g e B ®9 G F oA A At s | A
g arfaufis &9 ¥ §51 $ e 9 fFar @Ay L e ag 3
Tl FH F w9 ¥ oafafds @R ¥, F4ife 59 9w o
¥ F1 WATH ¥4 F@T & (XY HAGRA F2AT A@T 8 |
310 # fan ‘Feor siglg Siwr 5o Ao B ‘AT G
qre F @9 ‘gem: g ar gy’ (s |l ) fasr s
|FAT E M FE GHIT ‘ST qqoP ar ‘gemasw’ ( Ha
arq & ) +f faar @it wwar 3

70. The following list of adjectives may be com-
mitted to memory. An opposite meaning is given to an
adjective by prefixing 1 4 or &g an. Thus ergea atulya



0T
g
Ci
&
HET,
qg
o7y
b
=T
a1g
HEET
fo
e

faa
g
g
gedl
a9

[ % ]

‘unlike’; srgfea anucita ‘improper’. In the neuter gender
they may be used as adverbs. Thus sfis qegfy sighram
gacchati ‘he goes quickly.?

PR & 2 & af g F arg wC qar ke |
RO ¥ ‘e ar ‘e sire 3 v TmE feda ot &) sar
T IV ‘gew’ wAlq @wra wdh; Cegfaa e Sfam
Tt | nYasfag F sa% wTw FAEReT & w9 ¥ fEar o
HHAT 2 a0 ‘N 7= 95 ¥ ST T

krsna
sukla
nila
rakta
mahat
bahu
alpa
Sighra
manda
sadhu
samskria
priva
ananta
citra
tulya
dirgha
hrasva
nava

black.
white.
blue.
red.
great.
much.
little.
swift.
slow.
good.
polished.
beloved.
infinite,
variegated.
like.
long.
short.
Iew.

FIET
e

Hrar
ara

qET
Afas
sreT
S|
AT
ar
HE
eI
rdifae
AAF AT FHI
g
qear
gral
qar

T This becomes ®g1 maha in compound words.
ard & 9 ‘@er @ wmar ¥
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AT - wakula perplexed. CESIDIEC
3T sanya empty. - @ral

g3l sundara beautiful. qATET
Dlepd yogya suitable. D=

g vrddha aged. 3T

Zfaar daksina southern. sfaor fEor
I3 ksudra mean. =3

gT diira distant. 3T

fafeqa vismita astonished.  =f¥¥

T sthila bulky. qraT

EDE sthira firm. zZ

g purana old. gIrer
wfgq ucita proper. S5

Like the participles mentioned at No. 52, the adjec-
tives that end in a generally make the feminine in a
and the neuter in am. Thus fgar &=ar priyad kanya ‘a
beloved girl’; zfanwzes daksizamaraiyam ‘the southern

forest’.

o ¥R B gary WF HEed & GHIT & BT (Ao
P g ékra@r A ‘o’ EH AGEHlAg I FAGAT
Tz s faar w0 (card =R ), z o mrog—~—gfao
F °T |

Lessonn 19, 913 (R

71. Inthe formation of HKarmadharaya ( No. 69 )
and other compounds { as well as in cases where one
word in a sentence immediately follows another—see
No. 20 ) some change often takes place in the two
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letters thus brought together. Some rules and remarks
1n regard to these changes here follow.

sAaRa  (fqam §2)  quar swa garel & g9y gug
(@1 U Tadi q ey area ¥ oF U7 gE 05T ¥ qew
AT ATaT A—f9an Re ) T IFR OH AT AT A6 97
F0f W 35 oftada AT ¥ | 39 qf@dqt ¥ Bea ¥ g
fraw o awasa 98l 79 @y & i—

72, Similar vowels are those that differ onlyin
length. Thus a and @ are similar; 7 and i; z and iy &ec.

others—as ¢ and u—are dissimilar.

qurd T ¥ ¥ AW Faw war (gew, a1 a9 ) a5y
FFAT EIAT ® | I AFT W ST ‘A mww v E; 2 ot
@ Far ‘¥ eNix ‘wW 9uid T E, saufE | eremar ‘7 efit
‘T’ AT T F |

73. Two similar vowels meeting, combine and
form one long vowel. Ex. a+a=a; a +i=a; d+a=a;
a+d=a;1+1=1 &c.

T [ArT &9 # afew S W T (Haw 0F AT waCa
A F | STET H+ A= F A= ST+ o=
A+ =21; T+ =% Atz |

74 If a word ends with @ or @ and the next begins
with a dissimilar vowel, then a guza substitute ( see No.

17') takes the place of the two concurring vowels.
Thus a+i=¢;a+u=o.

afg e Yisg % oreq ¥ P ar ‘o’ irY ek IGE T1T
H QT fRE STEATT T @ TET & A TF QI ST A
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AT @ F T AT 9 qO SRy (3@ faw s ) Sar g
TIEIM A +F=U, e[ + T = 7 |

75. If'a word ends with @ or @ and the next begins
with a diphthong; then a substitute called orddhi takes
the place of the two concurring vowels. The wyrddhi
substitute of ¢ or az is ai; and that of 0 or au is au.

afy fedl weg & wrq ¥ 90 A oy e T ol waE W
F 75T 6] @I €T W AT elaT &1 aY uF |@F frwe
qIT Al T T €AW 9T gfg A Foegy glar ¥ 1w
1 Uy gig e W F T ‘Y ar ‘el @ et |

76. If aword ends with 1, u, or r—short .or long—

and the next begins with any other dissimilar vowel,
then ¢ is changed to its semivowel 9, 4 to v, and 7 to 7.

afy feeht we7 Foeq ¥ g, sar w—aed a1 AT =y
AT IEF 17 F o7 (e TR AU €@ A ST
2 AT g T gEY ey qu ' ¥ 9 9 T F qur B
‘T 9@ fgAr Sar 2

Exercise 19. wrequa R

77.  Turn the following pairs of words into Karmma-
dharaya compounds—paying attention to the rules indi-
cated as applicable to each—and putting each compo-
und in the nominative singular.

Mafafas gl & wgl € 99% $ Wy @y gy
faadi ot s 3 ge—sdana @Erg A ok 59w
[AE H AN QFIIA F @ |
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deaq samskria +sfFg ukii (No. 74), ‘polished speech?
QRSHAATAN; SF7q ananta + 3w atman (Nos. 73 and 74),
‘the infinite soul’. wyazfs suearn; He nile + e utpala,

‘a blue lotus® H@rEwas; war mehd +pfy 757 ( Nos. 74
and 17), ‘a great sage’ §arear |

Lesson 20. Q= Ro

78. When the case of a noun depends upon ano-
ther noun or participle, the dependent noun fmay be
prefixed in its crude from to the other, making the
compound called Tatpurusa. For example ‘the shore

of the sea’ wgg¥a A samudrasya tiram,may be expressed
thus gzt samudratiram “the sea-shore.?

g e 99 53 H FNE (BEl 8l e ar 379 )€
sfea Zrar & a1 St | aId) 9S00 % AfaefiE ®9 o
gad 3 AT FIE [ET F UEQ SISl 91 GFAT T A 3N
SR ‘AT AIH F GHIG qaT 3 | SR F fae—agz
&1 frary ‘ggzea A7 = ‘gggdd o faar s asar £

79. In a Tatpurusa compound the first term, in
the crude from, has sometimes the force of a Genitive,

sometimes of a Locative, &c. For example—in the
compound uga{ parkamagna ‘mud-sunk’, the word
‘mud® has evidently the force of the Locative—the
meaning being ‘unk in the mud’. Again—agrarze
lobhakrsta ‘greed-attracted’ evidently means ‘attracted

by greed>—the first term having the force of the Instru-
mental case.
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qigea gara ¥ gifqafss wv § g quw 9g & 1407
a7 SRIFIE K SR T AT w1 enfy 1 wie Sy
2l & fag-‘agaw’ ‘Aug T gw gar Fugar
Az ysg F wfameor £ gfe T-fraw o § — Ao F
gar T | g9: ‘/ATEE’ W €98 AT § QN O f@sr gar'-
TEH TH 95 § SOHH H 9w 2 |

Exercise 20. smegre <o

80. Turn the following pairs of words into 7afpu-
rusa compounds—writing each compound in the Nomi-
native singular.

‘The influx ( syrw agama ) of wealth ( am artha. -
No. 73 ‘A hundred { g Sata [n.]) of fools {11@ mirkha)’.
‘Sport (sier krida) in the water? ‘The shore of the
Ganges (w1gr ganga)’. {Who has] come (straig agaia )
for refuge (3w Sarapa)’. ‘Deserted (fia hina) by learn-
ing (fazr vidya)’. "Covered ( Ifeq vestita ) with clothes
(am vastray. ‘A couple (ga dvaya [n.]) of verses (&%
Slokay. ‘Lord (ufg pati) of the earth (gferay prehict).
“I'he bank of a pond (wz& saras)’.

farafaf@a wszi ¥ ST & QEgEY QU FATAT I
e GAIT H FTERLEH CFAEN | fa@r —

s (&g ) &1 e (s Y- o3 gl (J@ ) &
a §%31 (7@ [ng‘c] )1 ardt (= ) ¥ Jw (e | aET H
fpaTar | S T % faq wE ar (o) | faar & ey o
(67 ) | seet (3% ) ¥ @& gor (3fsT ) | 3w F1 4%
ster (59 [Rge]) | a=at (gfrd ) F wsht (af ) | a@E
(@r| ) ®1 A |
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Exercise 21. 2a3q18 1

g QIERd er srme Sievead gew | 9 A
AT AEOT T sMF@ WhEmAlE | QIwEe e agae
Fgar gGla | Srmeed g27 gay g fafenar |

Lesson 21, qi3

81. The Pronouns are declined in most respects like
nouns. The Ist and 2nd personal pronouns are very
irregular. The following, being some of the most use-
ful forms in which these present themselves, may be
committed to memory.

sifaswiyE: gaardi B &9 {Jisrra'ﬁ & gig =war g | s9q
qAT AR gEY T GEIAINF qANET B ®I AT Afafaa
Sar & | faeafafas &1 % Saifas wg@qol &9 & (3%
a1g F @ Tifze |

Nom. 4l e aham 1. 3
q9 vayam we. gq
Acc. 9 ar mam me. gFH!
HTA asman us. ZHBT
Inst. FOT /AT mayd by me. g#.ifr
sted(fa:  asmabhik by vs. gad
Gen. gFgeg  AH mama my. ay
QqEqrE  asmakam our.  EHI
N. FA @ tvam thou. gu
g7 yiyam you. ga @nT
Acc. 0 i tvam thee. SCEY!

591 _pusman you. g @
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L w0  @ar  loapa by thee. gud
gewifi:  yusmabhik by you. gu @i |
G. qegey A tava thy. geaTu
geaiE  yusmikam your. @H@Tﬁ G
N. =l g: sah he (or ‘that’). 98
a te they (or ‘those’) ¥
Acc. FH & tam him. SHH!
GIE tan them. ST
L. F0T as tena by him. gy
-3: taih by them. 399
D. dagi aed tasmai to him. IQFHr
Jv tebhyah to them. Saar
Ab. eiqrard qewig  tasmatfrom him. sg®
aa tebhyah fromthem. gqg
G. qavg  qEq tasya his. IgE!
‘ asf tesam of them.  IqFHT
R. sfaser qftwy  fesmin in him.  sEW
ag tesu in them. SCLEY

82. The feminine of this pronoun is @t 52 ‘she’ or
‘that’. In the neuter we have gg tad ‘that’ and arfq
tanm ‘those’,

=g @I # Sif|n ‘ar ¥ | agasfag ¥ 9 @iy
g& oY ‘arfe’ eratq ¥ Svar & |

83. A useful demonstrative pronoun is formed by
prefixing g ¢ to the foregoing. Thus us: esak ‘he’, ‘that’
gag efad ‘that’. The pronoun 5§ idam ‘this’, makes &1%
ayam in the Nominative singular masculine.
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uF 9Anl GkAEEs @gwe endt aftw edaral ¥
gER ‘@ @IET SAI SET 8 | 39 9% a9 98, ‘aay
gz | =¢ ‘9g’ gaa@ @ ] oEAEN gfEE H ‘e mg
SECUES

84, As observed at No. 64, the wmterrogatives begin
with %, and the relaiives with . Thus =: ka) ‘who? ?
gem kasmai from whom’? or ‘from what’ P = yaf
‘who?; sxarg yasmat ‘from whom?® or “from which’.

Jur s from & M R@rasr ¥ gmwes FF &0
HasarST T YAMFT 29 ¥ 139 5wl ‘w5 wA { xwary
fp safe o 0 ar SheE 0 9 Y, ‘awar’ fra sate @ o
= |

85, The Nom. sing. neut of =: kaf is f& kim ‘what’?

‘F? w1 FAOENE UFAGW AgEstag ¥ 5, Far?
Zar 2 |

86. The indeclinable affixes cit; apt, and cana,
added to the several cases of the interrogative pronoun,
give them an indefinite signification. Thus =fgg kas-
cit (No. 25) ‘éomebod}r’ or ‘anybody’; aiwe kenacit
‘by some one’.

oY% GWATTE qFarAl ¥ @y Ry ‘afy o ‘aw
wsaa] B ST 9T AE A AfAmEAraE B SqE@r |
za g% weag ( faw jy) sgig i safs, Fafag
frcft safse 9 |

Exercise 22. 3qmE@ IR

87. Write the following phrases in Sanskrit.
Where is my son ? Where is the book ? The jackal,
seen by thee, will abandon the forest.” The crow, seen
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by me, abandons the tree. When ( was ) this heard by
him ? By whom ( was ) the speech of the Brahmanpa
heard ? Where does their father dwell ? This is our
house. Where is your house ? Who sees you ? Some
one sees you. Who dwell in those houses ? This speech
( was ) heard by a certain Brahmana. The king gave
wealth to him.

freafafas owat £ dega ¥ fa@r —

J7r g7 el & 0 gea® waT & ¢ g @ AT fear a9
Ft 812 27 | IERY T@T AT FiAT ¥ B Sgar ¥ ) 97 I@H
g gar o @ ¢ Awor F aroft e g@ ad ot 2 sqwm
firarr el taar ¥ ¢ ag A 9T ¥ | gEEIT W T & 0 g
N Y T N g @ T oT o F T @ §
7z aroft fed) armor & gAY Tl off | s SR A far

Lesson 22, Qg R

88. The mas. nom. sing. @: sak ‘he;’ ‘that’ and ga:
esah ‘this’ drop the wvisarga when a consonant follows.
Thus & @=gxiq sa gacchatt ‘he goes’; uwy AT es5a
manusyah ‘this man’.

sta Uiy, FOleR®, TFawq ‘@’ (%) qur ‘e’ ¥
qg F1E ST AMAT T QY A% fa@d 0 @19 &7 A& |
ayr—u =gfa (ag S|y ¥ ) uy agsw (ag orgH ) |

89. The conjunction ‘and’ is expressed by = cq,
which is placed after its word. Thus fymr g pita
putrasca ‘the father and the son’. Same is the case with
the conjunction ar vz ‘or’. Thus fyar gar ar pia putro
2d ‘the father or the son’.

-1
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qUEIREF TeE el T g saw fHAr ey ¥
8 geg % =1z L WA ¥ | aar—faar g (A e
gx ) ar (ar) ¥ graeT I 99 19 ¥ AUT—ar g
m(fﬁmmga)i

'VOCABULARY 6. msgraal &

feeg kintu but. Jfew «fa  api also. ft
gfy yadiif.  afy  [g  cetif afg
af¥ tarkithen. g &y A nocet if not. & A
qeeg  parantubut. feeg fx hi because. FgifH

90. when the subject or object ofthe verbisa
whole clause, the clause is concluded by the conjunction
=iy i ‘thus’. For example ~ymon v faa gfr war
gaq ravano ramena jita it maya Srutam ‘Ravana was con-
quered by | Rama—thus ( has been ) heard by me’—or
I RO 5w zfy azfy aedfE: rdvapo ramepa jita iti
vadati valmikih “Valmiki says Ravana was conquered by
Rama.’

- % 3541 7 S Ar FH OF GFYOT IGAMFT 21aT & a7 9
Sqara w0 Sqdg fd (Tar) sewy fear sar ¥
SEEXW & fae—yaen uAw fra gfa war 79 ((gao qw
I S| 79T r—]gr GRS gAr T3 ¥ )—HqS[ [aon
uRw fora gf agfa aedfs’ (aedfe sz8 5 oau ga
FIT ST 1 v )

Exercise 23. =tvqre 3

A 1_:iger also dwellsin the southern forest. Then he
dwelt in a garden, but now he wanders on the sea-shore.
Something fell again. In our village is a master of
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poets. When is an empty house beautiful ? The girl and
her aged father and mother are here. The poet says -
the tiger went to Kasi. Is this man or that boy suitable ?
Unexpectedly a mouse fell from the seat. Again the
Brahmanas cross over the water. Everywhere he conqu-
ered the enemy. Thus the monkey will burn their
houses. The horse went, but the jackal even now stands.
Sometimes the devotee wandered here. The traveller
heard the the sound of a lute somewhere. That man
knew the scriptures. After that he went slowly to the
old tree. Thus he took the bhook and the arrows, with
( his ) hand, from the thief. Among the Brahmanas is
a good preceptor. He will sometimes cook the food
‘suitably. The preceptor says who laughed then ?

gfiqor a3 ¥ o Fa W Tear & | 99 93 OH 9999 7
TEar o1, AiFT 19 98 wgx T fFL gaar 3 | $1E a5g
il | zaR AT ¥ 79 51 oF @ B | o Qa9 5
gt giar 2 0 @gd o va% g2 fyar aur wway agy ¥
F(a Hzal & (5 A9 FHIW @0 790 | 95 sqgdr awa T Al
9% WEH | "edl uE LA A@d 9 U | 5@ g q| F
T FE & | Saw @l S0 gl # oha far |l g9 S
75 9% G B} @ S@A | NGy Fq@7 a3y, g faar
AT W @7 T | FI-FT WE AT GAAT 47 | G T HAT Ao
%I STAIST Al | 98 9%9 W FEAT 91 | SqF qg I5 97
afd /O guI 3w & fAwe var | 39 9 SEY uN aq 9
T | gEAH A A J T | snaot F a7 oogr g% ¥
qg Tl A A=Y TF W WA | 7% FAQ & 99 G9G DA
g1 =1 ? ~
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Lesson 23. quz 3

91. In making the passive voice of the present and
some of the other tenses, the letter 3 ya is added to the
root—and the terminations called the atmane-pada are
subjoined. Thus, the aimame-pada termination of the
3d pers. sing. present being & f¢, we have g@ga dahyate
‘it is burned’, gsaa pacyate ‘it is cooked’, &c.

JRAIAHEA a7 T SN F[AT & FAAET F979 F Q@
g1g ¥ ‘@ 991 ST @ T-AC AreAAIT F gAg AL 903
T T gFR IIUTT FA TAAGET  ( &F9Yo ) UHANH
1 ATRHAAGE BT TFY ‘D T AT 3@W ‘T’ (=g samr
W ) ‘9san’ (98 9war Sar ¥ ) onf &9 w3 ¥

92. Some verbs are conjugated, in theactive voice,
with the terminations called the a‘mane-pada. For
example :—

T WIgA ¥ wIA=T § &9 SUWAYT wegAt & faqar
gt & | SqIeRw & fag i—
a7 yat ‘to strive’ qua FIA1 makes Jqy yatate
‘he strives.’ 98 qI FETE
TG ram ‘to sport’ W@ar  makes W  ramate
‘he sports’ gz TFaT &
AT loc “to see’ F@AT makes sy locate

‘he sees’ 5z F@aT T
gq urt ‘to be’ = makes aTd  varttate

‘he is’ 9T &
g Subk ‘to shine’ qwsar makes WA Sobhate
‘he shines.’ gz IHFAI &
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gg_ sah ‘to endure’ gga HTAT makes wgd sahale
‘he endures.” a7 waar &

|7 sev ‘to serve’ 9ar FLAT makes [IX  sevale
‘he serves.’laz Qa1 Hear &

fEq smi ‘to smile’ gaHUAr makes Y smayate
‘he smiles.’ 95 gegyar &

Exercise 24. st3grg )8

Translate the following sentences :

The crow is seen by the jackal. The father is aban-
doned by the son. The oblation is burned by the fire.
The food is cooked by the man. The deer sports in
the forest. The BrZhmana endures pain. The girl
smiles. He sees crows on the tree. The king shines in
the assembly. Why is the gardener perplexed ?

faafafas srrai =1 wgag sU0 —

Fwr faak @ 3| sar 31 faar g3 | ey Far ¥ |
g A ZIU IAE FA T | 9T I U IHAT JEAT
g a9 ¥ A(A7g AFQT & | A0 2 GET F@T & | @S
EFUA T | 95 UT 9T SIS B @A & | YA | F guEdar
T | IS F AT TSI EAT B 9

faar g'zur @ G ET | qH FAAwA HAeAT AN |
99 gEIF FA A9 | FeAr wrEdl fearan Adlead e |
907 GEAR feeraar aitesat a=aq 1l

Lesson 24. qiz R

93. Verbs of the 2d conjugation do no insert with
vowel before the tense-affixes (No. 17). Thus the verb
orq as ‘to be’ makes sifeq asti ‘he is’.
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fedta ator &t wigeti § fAwfwai (fae 9) & gzw
T Adl T AR | 5w AIR ‘o’ (DAr) wig ¥ ‘afe
(g ¥) T gaar T |

Of the verb ‘to be’ the following portions may be
committed to memory.

‘%?i'r‘ﬂ’ B & faeafafag ®T 91T FT @ a;ﬁ@:q -
Present. sga1a
Singular. Plural.
&f¥T asti he is. 93 & qfew santi they are. 3 ¥

Ist Preterite. qasia, AE@@®IT
AN asit he was. gg a1 @ asan they were. T ¥

Imperative. =gt
8reg astu let it be. gz 1% qeg santu let them be. ¥ 21§

Potential. Efafae
€419 syat he may ( or should )be. ¥3: syuk they may be
9§ &ir =g w2 A1 TEY
Exercise 25. 3131t

There is in that wood a certain tree. Thy father
is not in the house. There was water everywhere. Thus
let it be, said the Brahmana. The son should not be
perplexed. In the empty village was an aged jackal.
Let the horses be beautiful. The garden is distant.
The preceptors should be good men. He says it is
proper, That man said it was improper. Having seen
the deer sunk in the mud, the jackal laughed.
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TEisaar A as e Tl gt faar s ¥ «di &1 «&r
gt SE S AT | @O ¥ T2 OAT §Y & | g B AASET
7ét iz | e e ¥ oF gar faaT ar | 9O gL A |
gqaw g & | II%el %t @A grar wifEe | ag waar g (& 9g
sfyg | S geY N war 93 wgfa A1 | 9O B Hwiwg F
&al 3@ faar gar |

g9 dfeq ww geasifa | e afewy g« Fy9q g |
afz qur earg afE faar sargar wfasafe | aew a9 ga0
%4 SYIFAl T |

94. In addition to the rules for the treatment of
visarga given in Nos. 21, 24 and 48, it is to be observed
that er: ah, when ¥t @ follows, drops the visarga. Thus
Sy e s7gala asit ‘there was a jackal.?

frgst & @earg ¥ 1Y, @ Aures ¥ Y @ frgdi &
srfafies ag sara 39 9vvg B 6 1w ‘o’ & iy ‘o S @t
fa@eT 1 @19 &1 At T a9 S e (9% famre 9n) |

95. The vowel st a drops when it comes after a
word ending in 2y 0 or g e.  Thus aQser nare® dya ‘the
man to-dayy QSH F @i te'tra na santt  “they are not
here? The character s serves, like an apostrophe, to
mark the place of the expunged vowell.

s ‘or’ T PR AW g F g errar ¥ forad oed §
‘A A1 ‘Y AW ITHE A ST L a0 A0ST (78T
ors ) ‘Asa Fafa’ (T agf adft )| Auges fasg *
qura S {98 @a gC T ¥ wura & fagg Far g |

Lesson 25, quz W
The following are useful verbs of the 2d conjugation.
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srgTfaTor Y % sqant aigd farafafas ¥ —
7 brii to speak ( or say ). sli@=r
a4 brite he speaks. ag siwar §
q9_vac to speak. smEar
afee vakti he speaks. 57 Hzar &
g7 pa to go. |AET
aifq yati he goes. qg waT ¥
gar sna to bathe. ggrar
gAifq snati he bathes. gz CEARI %
g han to kill. AArgEr _
| feq hanti he kills. g wizar ¥

96. The characteristic peculiarity of the 3d con-
jugation is reduplication of the radical syllable, For
example :—gr da ‘to give’ makes gzifar dadati ‘he gives’.

g ( gaeafy ) wo %t a9z fafhe gaw T & satras
oTeIT T 157d 21ar & | 9218 & fuw -—ar (Zar ) ¥ ‘zaify

(agzar &) |

97. The characteristic of the 4th conjugation is g
ya. Examples :(—

gt f=fy sor 1 AR fag @’ ¥ | S g i—

faq_ksip to throw. ST

faxeafy ksipyati he throws. gz %&ar &
% jan to be produced. Seq% grar

S[rad  jayate it is produced. g veq% Frar &
an naf to perish. g HTAT

agafd nasyati he perishes. sz 78 2t %
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qg pad to go. [T
qae  padyate he goes. g Far T
g9 yudh to fight. @gar
guad _yudhyaie he fights. ag @ear &
fag vid to exist. 4y

famd  vidpate it exists. g5 ¥
98. The characteristic of the 5th conjugation is
the syllable g nu—changeable, under certain circum-
stances, to |1 no. Examples :—

ggw (Farfy) o = fafie fag & ‘9’ =) g9 Rufyar &
‘A7 F Fg@ AT § | g —
&I ap to obtain. grar
steaifq @pnoti he obtains. gz gy Ey
% Sak  to be able. gaar
qEAlfa Saknoti he is a able. g gaa &

99. The 6th conjugation, like the Ist, takes a short

81 a but does not, like the Ist, substitute guna ( No. 17)
Examples :(—

warfy or % g 99 (garfs ) au ¥ o gex ‘o Srer
SAr ¥ fheg s9w a9 & garg ga¥ go (fraw ) a8
grar | 93TEor (—
g9 irp to satisly. @egg HCE1
_ gafq  trpati he satisfies. 95 @+gs Far &
T 1S to wish sqrgar
B gegfa icchati  he wishes. ag srzar &
qs=® pracch to ask. gg«T
i g=gfa prechati he asks. 9g qgar ¥



[ = ]

g mr todie {TAT
ferad mriyate he dies. 97 @ ®
®3%] spré to touch. gar
eyxifa spréati  touches. sz a1 &
100. The 7th conjugation, in certain tenses; inserts
7 na before the final of the root. Examples :—
aa# ( waifg ) nor ¥, Fg wrat §; 91g F afeaw g0 F
qg 7 SIS FIAT T | SFIELIT i—
firg bhid to break. Figar
fasfs  bhinatti he breakes. 3z Figar 3
fg| /is to injure. iz qFIIAT
fewfeg hinasti he injures. gz Tz FE1 %
101. The 8th conjugation adds § z ( which in
certain cases becomes 2t 0 ) Example :—

a1 ( garfy ) o & ‘@ Srer swar ¥ (S 59 feafaay
¥ ‘e & StraT &) | 9Rraon—
% kr to do or make. Ay, gArar

FUfe  karoti he makes. gz qarar
Other parts of this verb are s#i¢ cakdra ‘he made’

sfsafa karisyati he will make’; gzatg kurypat ‘he should
make.?

Tq far & o7y &9 ¥ —'gw0 (g7 aqar) ‘s’
(g sarar ); ‘gema’ ( ¥ aqEr SrET )|

102. The 9th conjugation subjoins A1 #d. Examples:—

Taw ( Faify ) sor F ‘Ar Srer ST | SgEe —

Jg. grh totake. @ar

TRIfd  grhnati  he takes. @ar ¥
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1 J7a to know. syrasr
swrAifa janagt . he knows. sraar
103. The 10th conjugation subjoins g7, which is
liable, among other things, to be changed to its semi-
vowel. Examples :—
o (Quiy ) nor ¥ ‘g 9T SAT TSN T @t
arg ey 9o ¥ afafaa & S ¥ | ey i—
$Y_ kath to tell. wgar
saafy  kathayati he tells. sgar &
faq cit  to think. @y=ar
feafy  cintayati he thinks. Qi=ar ¥
wA matr to advise. g ar
weafa mantrayati he advises. yra Za1 &

Exercise 26. 313q1& %

Translate the following sentences.

The son says. Rama kills Ravana. The king
gives welth to the Brahmanpa. The girl throws the
flower. How is a blue lotus produced here ? Ravana
fights, but, conquered by Rama, he perishes. An enemy
of that man does not exist anywhere. He obtains wealth.
Not any one is able. He satisfies the sons with food.
What does that man wish ? Why does not any one ask
him ? The man, having gone to the sea-shore, dies.
The girl does not touch the flower. The son breaks the
fruit from the tree. The good man does not injure any
one. What is he doing ? He takes the book. No one
knows. Why does he not tell ? Thus he thinks. He
does not thus advise.
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mefafEa IEdl &1 AgaE 54—

9ol HEAT & | UH VAT FOFGET & | A AT H 99
31 % | @R G FAA & | A wAG T8Y DY veqw gan
T 1 U9 WAl B, feg UA 9 Nar Arwcaz ag & s ¥ |
s safs w1 yig AT A& X a8 99 q@r 51 HE @
que 781 & 1 98 9l ® T ¥ 9egg WM 3 | 92 stgdy
Fal Fear & 0 &8 96y F47 447 991 & ¢ 97 sgH) agz-
92 YT AIHT AE@T 2 | @ B B @ gA T gA e @
e drear ¥ | s fHdr &1 91z ag) a¥wEr | 98 F¥ar 1
@ T qz gEew Aar & | wrs adt amar 31 37 F4 agt
FEZAT T 1 9% CET Qr9ar & | g8 oy w9 Ad qar

Lesson 26, =13gr@ %

In the following exercise the verbs given in the
preceding lesson are exhibited in the various forms
treated of in Nos. 28, 30, 39, 52, 55, 57, and 6l-a
reference to which rules may enable the learner to
translate the phrases,

Rafafas snam ¥ figy w13 F G ad fware a
fafea ®at ¥ fr@mr nar g—fawsr faawa 35, 9, 3, 3,
vy, yoqm X W ar gw B 1 5 faadi & ss@rsT 9
Q@ ard BN TP AT ¥ I fra aHd |

Exercise 27. 3teqr@ Q9

F7 F1IFY g | & faar megfy | 54 @ safa-
<afq | ud faeafacar agfa | od @en qgzd] a=gfa | ®3r-
faa @ 7 geaig | fuar of ofiar 9f aegfa | gFan s
7 fagea gafyq | Fswad av | sorfy o sarfy Aarf
q afd airg grefa | &ad g ard aegfa | g3 @iy
%31 ETEafy |
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If the disciple shall ask, then he will obtain; if not,
he will not obtain. Having seen the ocean, he goes to
the mountain. The monkey sports in the garden, and in
the wood, and on the bank of the pond. They say the
traveller will die. Why do the boys break the garlands?
Sometimes he speaks improperly. The beautiful girl
bathes in the ocean. Having drunk water he goes to
the secrifice. Thus he wandered and there he dwelt.
The father, having seen ( his ) son, smiles. Everywhere
and always disciples thus serve ( their ) preceptors.
They endure great pain. The Brahmana, deserted by
learning, does not shine in the assembly. Sin is produced
by anger. Good men quickly obtain great prosperity.

afy fysa widiar, ar a8 ardem; afE @ (&) aag
w5t qrT | 9EE B YE@EL g qad B O B | AL 9IAA
¥, 79 ¥ A qreE F (FAR eteeg WA £ 3 #Ea 5 1
A T STrEr | dgF W@ & F#4 aigy g ¢ 95 ww
argfara Aqar ¥ | gRIX 99 @gE W & S Y |
Q%< a8 A B FET B | 39 IHR A8 GAAT &7 AR I8T 99
frarg fear | far (199 ) 93 1 3@F gEEUE! | @9
Stz S asq fysa (9T ) gEel H g SHC A0 FA@ E |
Y orfirs o8 wER ¥ | B ¥ e @ gar ¥ wfve T8
Srar T | ara BT F Sg7 Sar T | o=y safe 0w A @nly
qa 2 |

Lesson27. qz s

104. Two or more words coupled together by the
conjunction ‘and’ may be made into a compound called
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Duvandva. If there be only two words in it, the comp-
ound takes the terminations of the Dual number. The
nom. dual termination of a noun ending in 81 @ is af} au,
Thus ‘Rama and Lakshmana’ may be expressed by
ga@zRo rama-laksmapau.

A Y @ SfaF qeg 7 0 arg o’ g ¥ g A
% ) 978 gFE 19 F gure W @r w 9% | afr Faq
A T & A T GAE F oeq ¥ I 9 fwfs @
T FFOE G OH FNFRS faww A frafe ¥ e
T8 TH YA AT FTAW B “quaero” F@r ST ogwar ¥

105. When a Dvandva compound contains more
than two terms, it generally takes the terminations of
the plural. Example ‘—smmomfafrzgar  brakmape
ksatripa-vit-Sidralh ‘the Brahmana, and Ksatriya, and
Vaisya, and Sudra.

wq foel geg @wrE ¥ Q1 A ufrs 9wz X F 91w
gt AT 1 ¥ | SqE i— At fiagar: ( s,
iy, 3 T T ) |

106. Verbs, as well as nouns and pronouns, have a
dual number. The 3d pers. dual of the present tense
ends in &: tah. Thus gag=go a9 g rama-laksma-
nau vane vasatah.; ‘Rama and Laksmana dwell in the
forest’ :—=mr®t I aga: kakau vrkse vasatah ‘two crows
dwell in the tree.’

Q fearstt, a1 damslt od @Al wr fawa v k|
IAANEHA & sraﬂgssr fGrea & e § @Y oaT X1 3w
SER “UATAU T FF9@ (qA ST @wq a9 @R
F)—FR R aE: (PRI wEr ¥) |
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107. When two or more words are put together to
form an epithet, the compound is called a Bahuvrifs,
For example :—qrq_49, namadheya meaning a ‘name’,
we may have the epithet wrafwgsmra®a pataliputra-
namadheya ‘the name of which is Pataliputra’. Such an
epithet, like an adjective, agrees with its noun. Thus
arefegaamdd @ pataliputranamadheyam nagaram ‘a
city named Patahputra’ —FYEETT AT kuSa-hasto naral
‘a man with kusa-grass in his hand’. -

FA A J F eafaw wEH @ uw @A w@Ee g
s wrar ¥ A wwE A wgdR w23 E osmmw ¥
fae—amda—faasr o T A, ga@ flwe & awa
qrzfagasrady (fasram aefagm ) s@ 9s) w5
fagtwor, fagiver qe7 & @A G0 3 wgEHA SAT B gaT
qrzfagaaadd aai—( arzfags @ra &1 a0 ), ‘goEear
v’ (& 7 gu % Uy faar gar safw ) |

108. The changes ( referred to in No. 71 ) when
heterogeneous letters come together, in compounds or
in sentences, are not confined to the vowels. The prin-
cipal rule in reagard to the changes of the consonants
is the following.

( Fag fre 9 ¥ wfgfae ) aftsqw o oF @wra qo
T W A Ay wurg ¥ A 9 gFa §, FAA@ eqqw
a% €1 ®fha agl 813 | sagAl ¥ afigda ¥ waea ¥ vg@
faaa a ¥ :—

109. A hard consonant ( No. 24 ) before a soft
‘consonant is changed to the soft of its own class; and
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vice versa. 'Thus wgEq mahat+wag  bhayam=wegLaay
mahadbhayam ‘great fear’.

UF 9% 59N T qgw o4 aAld IR 39T (e 39)
F 9@ W F ¥g suPA W xg@ (A1 TE@T & qAT Vay &
g frefa 9 9v 3 | waq + wag = AETWA |

110. Adental consonant coming before a palatal
or cerebral is changed to a corresponding letter. The
pronunciation is not so much altered by this, but that
one who knows the separate words can readily recognise
them when so combined. The same remark applies to
the change of § na to o7 7za in certain cases—as when
preceded by T r.

T SUWH ql@sd A1 999 F UEW o4 9 §HA
q01 ¥ 5@ f3ar srar & | gA9 sarw ¥ efyw ewar wat
grar feg ST saf® faer w=at &' sraar & 98 399 afeg g9
U &2 AHlA 91T 9FAT & | 98 i gy feafygi §—
A% ‘o ¥ qflada awr ‘Y Foge wW W N & fAwm
FA T

111. Thelettersg ¢ and 31 § meeting become <5
¢ch. The commonest instance of this occurs in qq
tat + gear Srutod =[SFAT tacchrutvd ‘having heard that’,

@ o A A wfewr 1Y ax =’ & wrar ¥ | gHEr q@al-
fasw s=faw S8 T 9a + Far=asgar ( 95 gawt )|
Exercise 258. =3qra ¢
The two sons go to the sea-shore. The crow and

the jackal dwell in the forest. Having heard that, the
deer abandons the forest. There is, on the bank of the
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Ganges, a city named Kasi. Why do the preceptor and
the disciple again go to the garden ? When will the
snake, the mouse and the horse dwell in one place ?
Men of slow understanding are infinite. A man of
great wealth wishes thus. A boy and a girl of good
family are here. A village of empty houses is not distant,
A man of great merit says so. A boy beloved by ( his )
mother and a girl beloved by ( her ) father are here.

31 57 9YFTE S @ g | e o ramaw ¥ @y ¥
T® AR W a9 H giedr & | I§ T 92 9 170 9rg =57
T AT & | I e e fRT a @y At sy ¥ 0 @i, gay
i ST %7 TF €AW 9T 7307 0 7 oww0gfy a1 wgsy
sEeT & | afas wa arer safe 58 AFT 290 # ¥ |
OF W= AW F OF FTHF AR TH T 737 ¥ | @ 93
QT OF 79 g /G & | OF WE QOAIS sk T@ 9FR
%aai% % | wiat & 59 % @ewr a9t frar €1 59 o =
azT % |

Lesson 28. qiz e

112.  In the native Sanskrit grammar, all the varie-
ties of declension are educed from a set of technical
terminations which the learner will find it worth his
while to commit to memory. They are to be read
across the page—thus “su, au, jas” &c.

7 wEHT sAFW H g 95 F gezEd @t ¥
=, = - -
o faftie a1 @ aardk o ¥, 5y Saw iy soser w9y
Qe AT | 95 59 g 9gAl Siftg—g-si-s1a safy |
¥
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Sing. Dual. Plur.

aFIFT  (EEE qEITA
Nom. =al g s 3 aw g jas.
Acc. =4 2 am. &N auf. e Sas.
Inst.  =zoy T ta. w3t bhyam. ﬁ:{q bhis.

sy

Dat. wegzter & ne. @i blpam. vam bhyas.
Abl.  warzra st hasi. var blyam. wmm bhyas.
Gen. wmsg T das. T 05 it am.
Loc. wfuzzm fg  #l  efta os. g1 sup.

113. The vocative has no separate termination,
being considered as a modification only of the nomina-
tive.

gEqaa ) fqule faa adt 21 ofie s® Fal F1TF #°
&Y u% &Y |41 Srar 2 |

114. Now, of these inflectional terminations it is
to be remarked that some of the letters serve only to

form syllables and facilitate enunciation: they are reject-
ed, therefore, when those letters which are essential

are applied to the word to be declined. These auxili-
ary letters are the u of su; the j of jas; the § of Sas; the
{ of aut and ta; the 7 everywhere; the ¢ of 7asi; and the
p of sup. Itis also to be observed thata final & s is
changed to visarga. The actual terminations, therefore,
will be :—

uF, =9 QeEEufEdl ¥ % 99 ¥99 % SR a9
ud =ERU # giEw ¥ @y @ T ¥ o@uy w9 Img
& FAN T ATIIS U B ST FQTE A I AFCH
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saf 1 g2l fgmarar & | Faftor g1 ¥ ‘g F @, ‘aq §
‘T e’ § QU ‘el et @l ¥ @ mAT T, ofF W 3, ek
O F T | gz ) = 3N Wi ¥ frefan @ % e w®
faar star 2 | S@eT aIEEAE 9277 F 29—

Sing. Dual. Plur.

gFaTT  fgEeE qETIA
Nom.  =at : h o au . ak
Acc. w9 af am e au 1. ak
Inst. LT oy a i bhyam  fipr bhik

Dat. d939 u© e i bhyam  ¥m: bhyak
Abl. eiqrarg e ah  ¥ar bhyam vm: bhyah
Gen. g e ah e oh AT am
Loc. efyszor s ¢ @& o g su

115. Inapplying these terminations to the final
letter of the word to be declined, recollection must be
preserved of the rules for the permutation of vowels

and consonants. For example, in declining the word
=1 nau ‘a ship’,it must be rememberedithat it ax, follow-

ed by a vowel, becomes %19 av; and that @ s becomes
7 s when it follows any other vowel than a or 4 and is
not final. Thus (—

faa g=7 %1 &9 TW@ET 2 IaF eiftaw T F @19 g9
qeadl HT NS T WY gy sAFAT 1 @y F fagai B
T TEAT ENT | STEW F faw AY (19 ) g B €T A9
wag 9z a7 @ar gifen 5 ‘el ¥ arg wg BT €T AE@T
TR @ ‘an® I FEIT AT I WA ‘e FH
wrfafiee 1% o @I F g H@T T AN AT T & H
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¥ aft oA @rew (wwim @ H) ‘9 & SEr B ogg
qQFI —

Sing. Dual Plur.
Nom. @1 naul, q1a] nava, QI8 navah,
a7 a ship. ws ary  two ships. g7 arF  ships. @
Acc. 1T ndvam, aray  navau, ara: navah,
g%  a ship. w3 &
Inst. <«yE7 navd, Tivar nawbhyam  |itas naub hih,
g0 by—. @ig ¥
Dai. |15 nave, Jtsat naubhyam Sy naubhyah,
qege  to—. aiE Wy
Abl. =y naval, Avar naubhyam  Aiva: naubhyak,
ggie  from—. A g
Gen.  =ars: navah, aray: navoh, |41 navam,
daie  of—. 17 W
Loc. =rfg nawvi, qiaT; navoh, ‘*ig nausu,

effae  in—. a3 ¥
Exercise 29. 13818

Write down, with the signification, the following
cases of the following words, viz :—

wsf ¥ ary faafafes geil & sfafeq &1 faar = —
Inst. sing., inst. plu. and loc. plu. of sf<s ukii “speech’.
Gen. sing. and inst. sing. of e7ea® dtman ‘soul’ or ‘self.
Loc. sing. and gen. plu. of a3y dis ‘a side’ or ‘direction’.
Loc. sing. of wa® manas ‘the mind>. Ipst. sing. and inst.
plu. of &fF agni ‘fire. Nom. dual and loc. plu. of g}
nadi ‘ariver’. Loc. plu. of & stri ‘a woman®. Dat. sing,,
inst. plu. and loc. plu. of fag pifr “a father’. Inst. sing,
dat. sing., abl. sing, inst. plu. and gen. plu. of I _vac
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speech’. Inst. sing. of w&q marut ‘the wind’. Loc. sing.
of zitg Sarad ‘autumn’. Gen. plu. of eywa_ dhimai ‘sensi-
ble’. Loc. sing. of gxg saras ‘a pond’. Gen. plu. of
wyfag_madhulih ‘a bee’.

SfeF ( Froft ) &r HX01, QHATA; F(O qgFo qAT fero
qgTo | ST ( ATEHT ) FI GFaad, QHITF q4T FI0T THA© |
fazn (fEam ) 1 atfaseor aFgo qqr GFgeq SgATT | ‘qagq’
{wa ) ® efge wmae | offt (oI ) %1 HIO GHTo aYl
FIOT Ggq0 | %) %7 Hal (90 agr wfywwor mgae | QY
F1 @ifgsor sgasa | fag (fyar ) =r @wmge ow39«,
FAOT EITA TUT ATAFHOT Fga=« | ar= ( areiy ) F o
QEHFATA, GEIFA UHATA, AAGF CHIAFAA, FAW GgHAA
oNT qeaed sgaaa | asq (37 ) w1 R0 wFATT | WY
1 Afgwtor gFa=w, Nwd ( glgarm ) &1 grasg 9gI94 |
g (arara ) w1 afwscor awgww | aghwg (o) @
wEged Fga=q |

Lesson 29, qrz 1

116. As the native Sanskrit grammar present one
scheme of termination, which, by means of the requisite
substitutions, may be accommodated to all nouns, so it
presents one scheme of terminations which, with the
requisite substitutions, becomes applicable to all the
tenses of every verb. These terminations are enuncia-
ted in a different order, as regards person, from that to
which the European reader is accustomed,—the person
applicable to what is spoken of being the first, and that
applicable to the speaker being the third. Instead of
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naming the persons by numbers, therefore, it may be
advisable here to give them the epithets appropriated
to them in the native grammar—calling that which {s
spoken of the ‘Lowest’, the one spoken to the ‘Middles
and the speaker the ‘Highest® person.

firg oFT 3X Sesd s faufeal 1 oF gwr
MFRT TEGT IAT T TS AR T |19 @t IIEsl ¥
Y @Y T, SH GHC TUH UF T AFIT F (Fafwar 9 8
AT FY S T AT G AT AR B qUI T AF AT B
afl H@ § w13 F | W& 9% guY W uEeT g W
qe9al 9 A Y A w9 ¥ frarar qar ¥, e w0 W
ANNG 93F GAERT ¥ ovAEd s—Iqd fwa® Gva ¥
I WAl T IW gEw SN ST aw F fava ¥ far T
W YR T W@ U9 T | ORY &1 9w 9en ¥
ST I T@A F TAIF 9T 98] Sea YT SAHT ¥ {39
T AR Far Ha Dwr—faaF e ¥ 21 9 <Y 507
9&7 (91 fazg ), f9a¥ 31 w17 3Q wsgw AR I I
3qW 9&T ¥ @ Sy |

117. The terminations are as follows :—

fwar %1 fawfear ga qwe ¥ —
Sing. Dual. Plur.
qFHIo fgae qgge
qqugEy  Lowest. fqu tip. g tas. 3w jhi.
AFAgET  Middle.  faqsip. o€ thas. g tha.
SUWgRY  Highest. faq mip.  a@oas.  wy mas.
118. In these, as in the inflectional terminations of
nouns, some of the letters serve to indicate certain
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operations; and these are rejected when the termina-
tion is affixed to the verb. After the requisite rejec-
tions and substitutions, the terminations appear as
follows :—

Harai ¥ frufe geadt 3 oGare A fl 3F AaT 99
Hrqq #at 5 afad @ T ot w9 39 g H g
¥ arr ey ¥ A Oy wmd @ gar frar w@r g | @EEd
AT ey ARY wWE T ST FAF ®T FH AR &l

SAraT B —
fa R tah.  @feq  antl.
fa st st thah = tha.
fa mi. g val. q: makh.

119. Adding these terminations to the root g ad
‘o0 eat’, and changing its final soft consonant to a hard
one ( No. 109 ) when the affix begins with a hard con-
sonant, we have

gady ‘g (@Mr) 91g ¥ W1 g 9L R T 73T
FAT s & wew far ® ae) urg w1 afraw 9g sdwT H
s sdgT I aftafia w0 oz ( faaw 2ot ) ¥ &7 & i

e1f atti, he eats. <= aitah, they erafra adanti,
sz@Er ¥ twoeat. I NI @A & they eat.
T @z

a1fz atsi, thou aree: atthah, you two  s1=¥ aitha,
eatest. q@EATE eat. g A @A 27 you eat.
T @IH &l
sifar admi, T eat. (g advah, we two =T admakh,

d @ar eat. €9 i @A T we eat. £d
AN @R &
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120, When a vowel precedes the m or v of a tense~
affix it is lengthened. Thus we have warfy bhavami
become—uatasafiy bhavisyami ‘I will become.?

99 WG F FATF QAR A F agw B wac sy &
Y 3% did 2 3 & | qur—awita (F San g ), whemfy
(g ) |

121. In order that the foregoing set of termina-
tions may serve for other tenses than the present, they
require to be variously modified. For instance, as may
be gathered from No. 28, the syllable &7 sya requires to
be interposed when the sense is to be future. Again,
to express time past, ( that of the 1st preterite ) the
final ¢ of the singular is dropped, and the vowel
a1 a is prefixed to the verb as an augment. Thus syasq
abhavat *he became?’.

qEd FY a3 fraret ¥ geaAT 21 SQUIT FIA B ATCE
o7 WA W O93® B ¥ QY S A9E TIH ¥
qfigda AR T 1 wErEew ¥ faw, Sar 5 go x5 ¥ R@r s
gFar & 5 =% wfsag s1@ F1 ®F a9 § ar T’ Q@Eﬂ]‘
ITEl 2 | O YAHE (WA O € @) B 9d g9
% fad owaga F eifeam 9 #Y zar far sar & oK forar
Tz e L ANMH F ®IH W@ fFar qA@r T qAT—
eraad (9= gar ) |

122. &1 ‘D, 7 ‘thow’, and &@: ‘he’, are declined in
the dual as follows :—
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o (F) ad (q) aur ‘@’ (37) = feawa ¥ 59 gH€
F AT &

Nom. sayr  emar g &Y
Ace. Eﬁﬁ' _— _— —
Inst.  =wYOr  eqErEA gEsal areEr
Dat. g9c — — —_
Abl. Hqre — — -
Gen.  do  =rrIAn RECIE qa\:
Loc. arfigo — —_— —_—

Exercise 30. wyqug 2o

Translate the following sentences :—

Who art thou ? I go to the village. They two will
go to the village. Do you two go to the wood ? Shall
we two go to the sea-shore ? Thou seest my house.
"What dost thou do ? What dost thou wish ? What dost
thousay ? Ido not say anything. Artthou able, or
not ? I am not able. I saw thy son.

frmfatas gl s agarg w1 —

gu sl ! Aot wramar § 1 Y Svar v Fr Sy
FATGH IR AT B JY Ay 0 FaArEw A9 @ggEe @
TG Q_‘?T{IETIG{E{HT%% L FA FANE T FA AT
27 gFar AT R u@&::ﬂ R #EarE | gW @Wd
Arar wdf 7 gued aft £ 1 ¥y Nom 2 Zan |

X 94 F TEFW: | T Gz 9 @ | EﬁEFEFﬂ?[gﬂﬁrt
WAy ®EF a1 | wgfired fasqmifa | od ard gaafmarfE |
Frast Fef A8t | rafired sisardify & ga @ agfa |
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Lesson 30. qiz 30
123. The infinitive is formed by adding g tum. Ex,
arg yatum ‘to go’.

wAET SEAfeEr g d@eEd ¥ ‘g DeFET gard
STt ® | sgrzzor—ang (S ¥ fao ) |

Many verbs insert 3 i before . Ex. afag bhavitum
‘o become’.

W% farett ¥ ‘g F aza ‘P @ At T owgre wiig
‘T & fae |
The following is a list of infinitives :

g T AT Y w47 F g Awfaiag ¥ o—
& kr Makes q;é karttum, to make. a1 & fa@w

g gam — n;@‘ gantum, 1o go. s & fa
5 B — @{g Jetum, to conquer. siad # fag
gr da — gIg datum, togive. ZITF fau
T drf — g5 drastum, to see. 2Ea ¥ fag
€T sthd — TATE sthatum, to stay.  FEIN F faw
a9 vac — aFg vakium, to speak. a@w F fag

Exercise 31. =sarer 3%

Translate the following sentences :—

Ravana is not able to conquer Rama. The father
wishes to give the book to the son. The two sons wish
to go to the wood. Dost thou wish to go to the sea-
shore ? I wish to see thy father. Do you two wish to
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stay here ? What dost thou wish to do ? It is improper-
to do thus. To speak thus is unsuitable.

fafafaa arEFal s Agag U —

AT YA F AT F fqu gryg 987 ¥ flarga v
geaF g & FeHT F@l & | 2 gF g9 F A1l I=A ¥
F9) § GgF-AE F @A Seard ! d 0 f@ e @
Sizar § | F9r g9 A1 Fg] &FAr WIEd &1 0 FAr AT
grzAT ¥ 0 Car s egfaa 3 | Var Sigar saeg 3

Tl 9sEd TegraTgiea | o weaal A1 Z5E 7 QA 0
AraEdR Wg 7 e | o enggfaay | 9 surg avafufs
faar =iify | wed ssggfaanfta | 38«01 94 31g Qeag |

Lesson 31. qrz 3%

124. The present participle active ends in &g at.
Thus g bhavat ‘being’, n=gq gacchat ‘going’, fagg
tisthat ‘staying’.

FEUIAFIfGF ST F377 S o-q ‘G wE@T | 3w
FFEX ‘WAR’ &Y §Y, =G’ T g, ‘s’ & g |

This participle is declined as follows :—

TH FEed 1 €9 TH GFHIT I 2 |

Sing. wgg=sa Nom. Fal wegA gacchan, ‘going’.

Acc. 0 a=eq gacchantam.
Dual. Nom. and Acc. eIl gacchantau.

fga=a Fay ot &0

Plu. aggaw Nom. sat nwgea: gacchantah.
The rest of the declension may be effected by-
subjoining the terminations from No. 114.
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N & 088 F FeqUl B ASH FAT T GF ¥ |

125. The indefinite past participle active ends in SEG]
‘avat ‘—as HEIF krlavat ‘was making®. It is declined
fike the present participle { No. 124 ) except that it
takes a long vowel in the nom. sing.,—thus FATT
krtavan. It is commonly used with an auxiliary verb—
thus %1g HaraEa aham krtavanasmi ‘I was doing.?

qaFIfa® F3ar=a 370 % oeq F ‘qa’ ar B
‘FAAT’ qA1 T AT | THEH B9 AGWR F Faew (W) F
qUA IJA L, II@ AL AL & 5 39y wEy opsTA
T3 19 &1 |7 E—aT SISO qANT QAT OF
g A S @iy far & Se—uw gagmea (§ w
TaT ar) |

126. A class of future participles, most extensively
employed, is formed by the affixes gsa ‘avya, w7
aniya, and 7 ya. Examples: wigasa bhavitavya ‘what is
to be or oughtto be’; mgdia sahaniya ‘what is to be
endured’; @71 labhya ‘to be acquired’.

WASTEHIT & HI7T BT UF qQ, (AGH TG TI0T ZA]
T, 759, ANT X T T[T ATEHT G047 AT X | SIr200—
wfdgsa (srgiar ¥, @ S g\ wif3e ); @adia (Y
qEAT T ), @y (R amm st &) |

The following are further examples :—

frafafas g sfafts sgem & :—
gI5] vaktaypa  to be spoken. HET [ Fi1

S bhajya to be worshipped. q3T EX G LD
TFY sakya possible. ' 9T E1 Y qryg



[ es ]

el sahya endurable. ET T AT
FIET karyya to be made. FI Y
g554 drastavya  to be seen. BES Ay
wegsw  ganiaypa  to be gone. TN =g

127. The future participle is much used in the
nom. sing. neuter. Thus a7 7qsd fvaya gantaypam ‘it is
to be gone by thee>—i. ., ‘thou art to go’—q9y Wigasd
aq ‘thus it is to be become by him’~—i. e. ‘thus must he
become?’,

wfsaTEE F geed #1 SAHLS UHATH TgQH@T
g7 S9N SlaT § | auy ‘@ar wrasd’ (gFR S8l SAr € )
a7 wiyasd aa (9% RaT aar ¥ o SH UEr $9wE g
=Tifzm ) |

Exereise 32, |q¥q1® 3R

Translate the following sentences :—

tasfafaa areal @1 gag FA—

qT HIIMT 7 AT Foeud, | o1 gRAOTIOT TsEH, 38l
R | & sUrE: GufE e gResy g | ¥ O 5%
AT Argsan | giE agsante 1aqT | fF w959 9n g%: |

Lesson 32. qQr8 IR

128. Verbs compounded with prepositions some-
times retain the meaning of the original; more frequent-
ly they have the sense of their component elements;
but in many instances they have significations which.
depart widely from those which they might be expect-



[ s= ]
.2d, from their composition, to convey. The explanation
of such compounds is the province of the dictionary,

STEA & @I g W HA-mN fearet ¥ AifEs we
T &4 3 AR A1ILC SAH AT IAH GEGG q74] F A1A7 &
FrgaITEqA 9T Ay SR T S E N sy A Q
Taegm fust 210 F 9@ orsl &7 €0 oIgare 34 & | 54 931
%F QI B SAEAr [STHIT H f49a § |

129. Of the twenty-one prepositions, the most
aseful here follow, the sense being exemplified in verbs
or in derivatives of frequent occurrence from verbs
compounded with the prepositions.

ThlT 39aal ¥ qaifas seaef SqeT @AY Y R ¥
IHF o F GHATST TR AT SY@A & I® Fwarei | sgaOA
FAP FCAR 9JH &9 qArd TR0 F9FIEAT ERT T9g
far nar & |
sifg ati ‘beyond’. gy Hfqwrafy afikramati ‘he goes

beyond’. 97 Sa% WAFT A1GT &

3tfer adhi ‘over’. wmIy «fqnE adhigata ‘gone over’ ( as
a book when read through). mqy war gaw
(ST =5 9 98 TF gETE )

‘g anu ‘after, like’ F17, qIg AT anucarati ‘he goes
after’ ( as a disciple goes after and imitates his
preceptor ). IF 91 W@w & (FW firsw er7d
TTE FI AGHL FAT T )

AT apa ‘off. g1 erazifa  apaharati ‘he carries ofP.
9§ §U R ST &
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=50 abhi ‘opposite’. afy wfanegfy abhigacchati ‘he
approaches’. az q1q srar &

A7 @ ‘reversing’. {3 gy doacchar ‘he comes?,
98 A1 &

arzeifa adadati ‘he takes. I qar &

T9  upa ‘near’. fa%T IUFYX wpatisthate he stands
near. 9z fa®z ¥ wer gar 2 |

[

far_ mr ‘without. fyar fazfy nirdosa “without faule
faar giw F

QfT pari ‘around’. =y o717 afefy paridhi ‘perimeter’. F¢r

afq prati ‘again, back’ g, 4 qTVHIT pratikara
‘retaliation’. sg@r afafyd  pratidinam ‘day by
day’. ge3% fxa

¥ vl ‘apart’, g FABIT vikara ‘change of form’. ®&q =r
afiaaa farT viyoga disjunction, AT

g sam ‘with’, oy AT sangama ‘association’. fyzar

130. Of prepositions used separately or without
verbs, ufy prati ‘towards’ governs the accusative; gz
saha ‘with’ the instrumental, and a7 ving ‘without,
except’, either the accusative or the instrumental.

9U% &7 H ar fhwrell ¥ e wgw Sy =iy oAl
(%€ wanasda sarsmar ¥) ¥ afy (<) 3 aw
# FAEREF ST T, ‘@ (WiT ) ¥ A I w0 eic
“FAr F AT F a1 O B/ DG 91 FO FF |
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Exercise 35, =3 qrd 33

Translate the following sentences :—

This book is to be gone over by thee. The disciple
goes after his preceptor. Ravana carries off Sitad. The
traveller approaches the tiger. The traveller does not
approach the tiger without fear. The father, with the
son, stands near the tree. The crow does not associate
with the jackal. Day by day the crow and the jackai
associate with the deer. How is their disjunction to be
made ?

frmfafas T3t =1 sgaE $U —

=6 YEIF T TFe 9T @A &1 s eew R & 9%
ST € | YA @ar B @ WEar 1 1 gR My ¥ 90F S«
Tl R e gyw Rarva Fadi s T a1 93 %
a1y ¥g F A\ @er e ¥ | Ftey fGan F gy agt fagar
T | afafew wlen oix faare av 3 @y d &@ & ) <%
fra 3R AT R

swafammfy afifiag | fear sgfafa g |
HEEISER YA | wAd fFar swEl Quasgsa |
feqgalesd | &1 sdiaQ @ s9sa: | ga sEEisd o |
gAET EEA faar geasargaifa | ewfanamer w9 gan &
qg wFgata |
Lesson 33, Qi3 3R
It would have been observed, in Lesson 24, that

the 3d pers. sing. of the imperative ends in g. In the
passive the termination is §f {am—preceded by the 4 2
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of the passive ( No. 91 ). Thus saat sripatam ‘let it be
heard?, fwmat Ariyatam ‘let it be done’; zyaai drsyatim
fet it be seen’; swaqi ucyatam ‘let it be told’.
qars ¥ ¥ T¢ 3@ war & {5 smias Gear &9 F g94A-
g%, REITA F @ § g Aar &0 w9y § A8 ‘q’ &
S@Er S, foa® ogw s9ar=a %0 @ (fqag &2 ) sy sEr
x| war—‘ggai—( 9 g1 w4 ); feaat (g {wwr wa)
T3t ( 9% 3|1 919 ) gvAal ( 98 FE1 907 ) |
132, In Lesson 24, the potential is exhibited ending
in Ty _yat—as g=awg kuryat ‘he should make’ :—but the
form in which it is more commonly met with is that of
the st conjugation, where it ends in aq /. Thus 3739
bhavet ‘he should be’; w3%: bhaveyuh ‘they should be’.

ars ’2 ¥ fafafae ¥ ewa ¥ ‘@’ fyarar aar IE—

=g (S8 e wiRe) feeg fra &3 # 98 @@EI:
qraT SAT ¥ aF W a0 F1 gar ¥ (W 3@® oed H
o wrar T @aT WA, (oF Srar wifaw) w3 (99
et =ifge ) |
Exercise 34. w3q¥ 3%
Translate the following sentences i(—

The preceptor should be a good man. The horse

should be white. The disciple should not be perplexed.
Let the wish be heard by the fatbter. Let the deer sport
in the forest. Let the beautiful girl smile. Let the crow

‘go. Why should it be improper to do thus ? He should
obtain merit. They should go home. Let not injury be

done to any one.
%
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faafafaa swal #1 sgarg 37—

TE F @S ZAr TR | DT @y g7 Mida | fey
Fr aagral adl =ufRe | far & svmr 2 gy | gn 3y 1w ¥
H[a77 AT &1 | §7ET ATH B GEFUT AT | FT 9 |y 4 |
7z A1 F4i wgfaa ¥ 0 s¥ gox q17 FA wifzw | T 9T
st1ar =ifza | feel % w8 | 19 2 |

I qEAy T A | wEisEdr S | R s
geaFife TR | I8 IF WA | 9@ sud | fEearg |
fagae gt g7AIq | €T QEAFET (Fhawm: wmig sHfaa
wIq |
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